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The following table shows the percentage (%) breakup of

(i) number of employees,

(i1) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P iz oo)p ¥

Accounts 20% 5% 6%
Production 35% 50% 353%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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SPrded 20% 5% 6%
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HIdh {3 18% 15% 22%
The number of employees who got promoted from the HR department is approximately % of the
number of employees working in the department.
1.36.18
2.30.56
3.47.22
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i1) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department]  Number of Number of Male '\r;l;l:;iloe;eclzg;
Emplovees (1800)| Employees (1020) | P (600)9 ?

Accounts 20% 3% 6%
Production 33% 30% 35%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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STy 20% 5% 6%
PIEEEIE] 35% 50% 35%
3Rl 15% 20% 26%
IR 12% 10% 11%
Al 1T 18% 15% 22%
The total number of employees who got promoted from all the departments together is approximately %

of the total number of employees working in all the departments together.
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P ® 00)1" ¥

Accounts 20% 5% 6%
Production 35% 50% 33%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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TET (1020)
EERER) 20% 3% 6%
BIEERE 35% 50% 35%
35l 15% 20% 26%
TR 12% 10% 1%
HIh e 18% 15% 22%
Total number of female employees working in the Production and Marketing department together is
1.234
2. 406
3.201
4,486
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(3) 3
4) 4
qISaRT SR A1 7 1 e Srivd Afea sl &1 od e fhai g 2
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P ® 00)1" ¥

Accounts 20% 5% 6%
Production 35% 50% 33%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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T (1020)

HPTIc] 20% 3% 6%

EGEE 35% 50% 35%

3Rl 15% 20% 26%

TIHR 12% 10% 11%

AT e 18% 15% 22%

If half of the number of employees who got promoted from the IT department were males, then the
approximate percentage of males who got promoted from the IT department was

61%
. 20%
54%
. 38%
(1) 1
) 2
3) 3
(a) 4
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The following table shows the percentage (%) breakup of

(i) number of employees,

(i) number of male employees, and

(ii1) number of employees who recently got promoted in five different departments, namely, Accounts,
Production, IT, HR, and Marketing, of an organization. Total number of employees, male employees and
recently promoted employees are 1800, 1020 and 600 respectively.

Based on the data in the table, answer the question.
Department -wise Breakup of Employees

Distribution (%) of Employees
Department|  Number of | Number of Male | \mber of recently
Emplovees (1800)| Employees (1020) | P ® 00)1" ¥

Accounts 20% 5% 6%
Production 35% 50% 33%
IT 15% 20% 26%
HR 12% 10% 11%
Marketing 18% 15% 22%
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T (1020)
PRI 20% 3% 6%
TS 35% 50% 35%
3Rl 15% 20% 26%
TR 12% 10% 11%
T {31 18% 15% 22%
How many females work in the Accounts department ?
1. 300
2.296
3.283
4.312
(1) 1
2 2
(3) 3
4 4
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2[Option ID=37918]
3[Option ID=37919]
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The sequence of using cognitive Apprenticeship model in the classroom is

. Modelling, Coaching, Scaffolding, Articulation, Reflection and Exploration

. Coaching, Mentoring, Assimilation, Socialisation, Retention, and Effect

. Identifying, Memorisation, Coaching, Socialisation, Assimilation and Adaptation.

. Exploration, Memorisation, Retention, Remembering, Visualisation and Implication.
1) 1

(2) 2

(3) 3
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(4) 4
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1[Option ID=37921] Question Description : general_paper_genarel paper_set 23_english_q6
2[Option ID=37922]
3[Option ID=37923]
4[Option ID=37924]

Sl. No.7
QBID:23201007

Which of the following statement best describes "formative Evaluation” in evaluation procedure ?

. A teacher awards grades to students after having transacted the course work.

. The teacher clarifies the doubts of the students in the class itself.

. The overall performance of students is reported to parents every six months.

. The teacher gives marks to students in the final examination at the end of the year.

B

1 1
2) 2
3) 3
4) 4
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Match List I with List II

LISTI
(Strategies of cognitive
Apprenticeship Model)

A Modelling L

LISTII
(Meaning)

Helping learner in starting and gradually
fading the support

Observing the performance of an expert
(Teacher or more experienced peer)
Giving words to their understanding of the
process and content

Giving external support to learner in the
form of hints . feedback, reminders etc.

B. |Coaching I

C. |Scaffolding III.

D. |Articulation v

Choose the correct answer from the options given below:

. A-IV, B-I, C-IIL, D-II
. A-IIL, B-TI, C- IV, D-1
. A-IL, B-IV, C-1, D-TII
. A-I, B-IIL, C-IV, D-II
(11
) 2
3) 3
(4) 4
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1. A-IV, B-I. C-III, D-1I
2. A-IML, B-II, C-IV, D-I
3. A1, B-IV, C-I, D-III
4. A-lL, B-TII, C-TV, D-II
11
2) 2
(3) 3
4) 4
1[Option ID=37929] Question Description : general_paper_genarel paper_set 23_english_q8
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Akshay. an eight-year old boy. was emotionally stable and performed well in school. His parents have
divorced recently. Due to this , he has become a very anxious child. What can Akshay's teacher do to help
alleviate his anxiety in the classroom ?

1. His teacher could provide structure, organizational tools and choices
2. His teacher could respect Akshay's emotional state and leave him alone
3. His teacher could provide Akshay with counselling regarding his anxiety
4. His teacher could tell the other children that Akshay is anxious, and that they must be extra nice to him
a1
(2) 2
(3) 3
(4) 4
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1[Option ID=37933] Question Description : general_paper_genarel paper_set 23_english_q9
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Which of the following are the key elements of cooperative learning ?

A. Groups consisting of high, average and low achievers are heterogeneous.
B. Students are mostly passive.

C. Students work in groups to master academic materials.

D. Reward system is individually oriented.

E. Students receive information transmitted only from teachers.

Choose the most appropriate answer from the options given below :

. B and D Only

. Aand C Only

. A, Band E Only
.C,Dand E Only
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=37937] Question Description : general_paper_genarel paper_set 23_english_q10
2[Option ID=37938]
3[Option ID=37939]
4[Option ID=37940]
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The approach of accepting knowledge because people have agreed upon, following a reasonable argument is
known as

1. Authoritarian
2. A -priori
3. Scientific
4. Experiential
(1) 1
(2) 2
3) 3
4) 4
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2[Option ID=37942]
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Values assigned to nominal scale of measurement are

1. Permanent
2. Orderly
3. Arbitrary
4. Meaningful
(1) 1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37945] Question Description : general_paper_genarel paper_set 23_english_q12
2[Option ID=37946]

3[Option ID=37947]
4[Option ID=37948]
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Use of scientific research to promote one's own cause inappropriately is described as

1. Improper science
2. Unscience

. Routine Science
. Junk Science

(1) 1

) 2

3) 3

(4) 4
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1[Option ID=37949] Question Description : general_paper_genarel paper_set 23_english_q13
2[Option ID=37950]
3[Option ID=37951]
4[Option ID=37952]
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Which of the following are categories of participants in research ?

A. Good participants

B. Negative participants

C. Faithful participants

D. Apprehensive participants
E. Traditional participants

Choose the correct answer from the options given below :

B.C
3.A,. B, D, E Only
4.A,C,D,E Only

1
) 2
@) 3
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1.®ad A, B, C.D
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(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37953] Question Description : general_paper_genarel paper_set 23_english_q14
2[Option ID=37954]

3[Option ID=37955]
4[Option ID=37956]
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Summative evaluation is also known as

. Content evaluation
. Primary evaluation
. Cost Evaluation

. Impact evaluation

B

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3
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1[Option ID=37957] Question Description : general_paper_genarel paper_set 23_english_q15
2[Option ID=37958]
3[Option ID=37959]
4[Option ID=37960]
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When media create pictures in the head, they act as

. Corporate agendas-setters
. Political representatives

. Tools of dissonance

. Agents of consonance

b2 =

L

(1) 1
2) 2
(3) 3
4) 4
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3) 3
(4) 4

1[Option ID=37961] Question Description : general_paper_genarel paper_set 23_english_q16
2[Option ID=37962]
3[Option ID=37963]
4[Option ID=37964]
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Western concepts of communication are based on

. Collectivism

. Individualism

. Impressionalism
. Absolutism

(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=37965] Question Description : general_paper_genarel paper_set 23_english_q17
2[Option ID=37966]
3[Option ID=37967]
4[Option ID=37968]
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The three divisions of signs identified by Charles Pierce are :

A. Modular

B. Prescriptive
C. Iconic

D. Indexical
E. Symbolic

Choose the correct answer from the options given below :

1. A, B, C Only
2.B,C,D Only
.C. D, E Only
_A.B,E Only
1) 1
(2) 2
(3) 3
4) 4

T U R Ug 9 T Rl & diF AUsH SR § 2

A Hideg®g
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2.%dd B,C,D
3.%dd C,D,E
4.%dd A, B, E
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1[Option ID=37969] Question Description : general_paper_genarel paper_set 23_english_q18
2[Option ID=37970]
3[Option ID=37971]
4[Option ID=37972]
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Match List I with List II

EISTT LISTII
(Motion picture 2 i
p (Audience type )
category)
A [High brow I. |Those who want to escape form daily routine
B, MMiddie brow I Much mpmsncated and have deeper understanding|
of the medium
C. [Low brow II1. |Intellectual satisfaction ortented
D. [Post brow IV. [Can distinguish between good and bad films

Choose the correct answer from the options given below:

A B TE G T
. A-II, B-III, C-IV, D-I

[

3. A-III, B-IV, C-1, D-II
4. A-IV, B-1, C-II, D-II
1) 1
2) 2
(3) 3
(4) 4

il 191 gl 11 9 firef sifore
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FrafaRad f[deeal T 9 981 SR &1 994 Sl :

1. AL, BT, €I, DIV
2. A.IL, B-III, C-IV, D-I
3. A-IIL, B-IV, C-I, D-II
A-IV, B-I, C-II, D-III

o

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37973] Question Description : general_paper_genarel paper_set 23_english_q19
2[Option ID=37974]

3[Option ID=37975]
4[Option ID=37976]
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Given below are two statements :
Statement I : According to some experts, communication reflects the primary group affiliation of a person.

Statement II : Communication should be understood within the broad social structure and process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement IT are False.
3. Statement I is true but Statement II 1s False.
4. Statement I is false but Statement II is True.

1 1
(2) 2
3) 3
4) 4




A sy farmE:

FYTL: TS ORI B SR T TP o 1 MUfHe T8 Taadl & IRafed FRa g |
Y 11 : GO &I SIS rTfords TXaT 3R Uichar & Lok gus oFT 91fev |

SR HY & felie 3, T4 3y e faswedi & 3 9t 3R &1 994 Pifon:

1. HYF 1 IR 1 A 9 B
2. HYF1 AR 11 A 3T B
3. HYT 1T &, Al HY 11 JTT 8|
4. BYT 1 HTA g, Ao FYT 1 TA B
11
(2) 2
(3) 3
(4) 4

1[Option ID=37977] Question Description : general_paper_genarel paper_set 23_english_q20
2[Option ID=37978]
3[Option ID=37979]
4[Option ID=37980]

Sl. No.21
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If simple interest on a certain principal amount at 5% per annum for 5 years is Rs.900 more than the simple interest on the same principal
amount for 4 years at 4% per annum, then find out the principal amount.

. Rs.9.000
.Rs.10.500
.Rs.10,000
.Rs.12.000
1 1
(2) 2
(3) 3
4) 4

fe et MTYd e o 5o aiftie &1 X 5 g9 &1 HIURU &6 I &1 JoreH W 4 aY & o7 42 e a3 &1 HURU &7 4 2
000 3% . Al GEY J1d HITIT |

o o=

L

1. 29,000
2.710.500
. 210,000
.212.000
1) 1
(2) 2
3) 3
4) 4

o

1[Option ID=37981] Question Description : general_paper_genarel paper_set 23_english_q21
2[Option ID=37982]
3[Option ID=37983]
4[Option ID=37984]

Sl. No.22
QBID:23201022

Pointing towards a Picture (P), a man 'Q' says that "He is the son of only daughter of my father-in-law". How
is the man 'Q' related to the person in the Picture (P) 7

1. Brother-in-law
2. Brother
3. Son
4, Father
1) 1
(2) 2
3) 3
(4) 4

TP TR (P) B 3R Wb B! U A 'Q HEcll ¢ [P a5 TR IR P! sPhaldt 9¢l oI del ¢ |" il
'Q' P TR H Sid ofdd (p) T T Y § 2

RIS
g

gl

foan

LT




3) 3
(4) 4

1[Option ID=37985] Question Description : general_paper_genarel paper_set 23_english_q22
2[Option ID=37986]
3[Option ID=37987]
4[Option ID=37988]

Sl. No.23
QBID:23201023

If in a certain code language PROFESSOR is written as ' RTQHGUUQT', then in that language, how the word
SCIENTIST will be written ?

JSTDIJFOUITU!

. UEKGOVEUV'
. 'UEKGPVLUV'
. 'UEKGPVEUV'
1) 1

(2) 2

(3) 3

(4) 4

1S fooedt % e U o PROFESSOR' & RTQHGUUQT il SITal 3, 1 9 YW H 'SCIENTIST &9
fora o 2

"TDJFOUITU'

. "UEKGOVKUV'
.'UEKGPVLUV'
. "UEKGPVKUV'
(1) 1

(2) 2

(3) 3

(4) 4

b =

S Y

R

1[Option ID=37989] Question Description : general_paper_genarel paper_set 23_english_q23
2[Option ID=37990]
3[Option ID=37991]
4[Option ID=37992]

Sl. No.24
QBID:23201024

A girl starts walking in the south direction from a point U. She walks 50 meters and then turns to her right and walks 30 meters. She again
turns right and walks for 40 meters. Finally. she mowves east wards and goes 40 meters stopping at point W. Find how far is the girl from
her starting point U.

1.5/10m

2.2,/10m

.10m

-10/2 m

1) 1

2 2

@) 3

) 4

TS dsd! U fag O o famn & 9emr sy &l § 198 50 e Ferh 8 3R R 3mm aifeeht oik guft & qur 30 fex aarcht 8 |
ag [t griel SR ggdll § 3R 40 ex Il § | 3id ¥ a8 Jd &1 3R gl g 3R 40 TR AR W 45 W ISl § | TSP 30
IRIAB [eg U A fFagR g 2

.5/10 iR
.2/70 Wi
10 TR

L1047 Hiex

1) 1
(2) 2
3) 3
4) 4

o

O

1[Option ID=37993] Question Description : general_paper_genarel paper_set 23_english_q24
2[Option ID=37994]
3[Option ID=37995]
4[Option ID=37996]
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What number should replace the question mark in the series given below.
11,13, 29, 01, 369, 2

1845

b2 =

3291

e L

1) 1
(2) 2
3) 3
4) 4

=T <t TS e | o1 < e vy arae g (2) B wiawifud sl o
11, 13, 29, 91, 360, ?

. 1845
. 1850
. 1851
.3291
(11
) 2
(3) 3
(4) 4

| S

S

1[Option ID=37997] Question Description : general_paper_genarel paper_set 23_english_q25
2[Option ID=37998]
3[Option ID=37999]
4[Option ID=38000]

Sl. No.26
QBID:23201026

"Soft drinks sector has shown good growth in profits over past few years therefore we can conclude that each
individual soft-drinks company is making good profits". Above argument is an example of which of the
following fallacies ?

. Hasty generalization

. Slippery slope

. Begging the question

. The fallacy of division

[

o L

1 1
(2) 2
(3) 3
4) 4

<Hrre-Eag &7 - favd o anl o @y J 3=t 9fs axIis ¢, SUiY §H 48 (epy MaTd d&d ¢ 16 U
qmwmght%%ﬁwﬂ3ﬁﬂWM$mTﬁ%dekd%%ﬁam@dﬁﬁﬁﬂﬁﬁaﬁﬁmﬁ
ERSUEE

1. 3R] GRS
2. T aeHgad g
3. YT &Y
4 fog adb g

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38001] Question Description : general_paper_genarel paper_set 23_english_q26
2[Option ID=38002]
3[Option ID=38003]
4[Option ID=38004]
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Which of the following statements are logically equivalent ?

A. No aeroplanes are electric vehicles.

B. All non-electric vehicles are non-aeroplanes.
C. No electric vehicles are aeroplanes.

D. All aeroplanes are non-electric vehicles.

Choose the correct answer from the options given below :

1. B, C and D Only
2. A, Cand D Only
. Aand B Only
.Band D Only
1) 1

(2) 2

(3) 3

(4) 4

FafafEa ¥ 4 H ¥ Py difde =43 90ded § 2

A s i fauF safdcw asT-Riga § |
B. Tl TR-30fdc® g IRAAF g g |
C. ®Is i gaifde® are- A gl grar g |
D. 9+t feuH TRgafde® ae- g g |

A1 feu e faedl § 9 98] GTR &1 98- Bifers:

1.$gd B, C 3R D
2. HAA A, C 3R D
3.%ad A 3R B
4. HadAB AR D

1 1

2 2

(3) 3

(4) 4

U T

1[Option ID=38005] Question Description : general_paper_genarel paper_set 23_english_q27
2[Option ID=38006]
3[Option ID=38007]
4[Option ID=38008]

Sl. No.28
QBID:23201028

If the statement "No aeroplanes are electric vehicles' is given as true, then which of the following statements
can be immediately inferred to be true ?

. All aeroplanes are electric vehicles.

. Some aeroplanes are electric vehicles.

. Some aeroplanes are not electric vehicles.

. Some aeroplanes are not non-polluting vehicles.

ba =

e Lo

(1) 1
2) 2
3) 3
4) 4

e 59 oY= @18 ot faqH safdes are 8 sidl 8" &1 9d & w9 H fear mar § al Fafafed & 9 fag
HYA & ATDIICTD U I TG Bl BT A [T o Fepall § 2

.t four Saifded a8 § |

. P% a9 safde® ae g © |

9% [0 saifdes ae TR g ¢ |
TS fGHH Rgu® aeT TR SIa § |
@1

2) 2

(3) 3

) a

O e

1[Option ID=38009] Question Description : general_paper_genarel paper_set 23_english_q28
2[Option ID=38010]
3[Option ID=38011]
4[Option ID=38012]
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Which of the following statements are so related that one is the denial or the negation of the other ?

A. All aeroplanes are polluting vehicles.

B. No aeroplanes are polluting vehicles.

C. Some aeroplanes are polluting vehicles.

D. Some aeroplanes are not polluting vehicles.

Choose the correct answer from the options given below :

. Cand D Only
. B and D Only
. Aand D Only
. Aand B Only
1) 1
(2) 2
(3) 3
(4) 4

Fofafaa 0 TR0 Sy SU TSR Geid & fr U, s @ dsT o sy g 2

AT T T T aegId B |

B. @15 it fa0H Ugy® are- el gIaT § |
C. TS AU Ugu® aeT8Id & |

D. % 39 Ugy® arg7 el 8l & |

A f4u e faed § 9 98l GTR &1 98- Bifer:

1. FadC 3ARD
2. HFAB AR D
3. %dd A 3IRD
4. Had A ARB

1 1

@2 2

(3) 3

(4) 4

o o=

U Y

1[Option ID=38013] Question Description : general_paper_genarel paper_set 23_english_q29
2[Option ID=38014]
3[Option ID=38015]
4[Option ID=38016]

Sl. No.30
QBID:23201030

According to Classical Indian School of Logic (Nyaya) which of the following argument involves the fallacy of Sadharana (middle term

being too wide) ?

1. The hill has smoke because it has fire.

2. Sound is eternal because it is audible.

3. The hill has fire because it is knowable.

4. All things are non-eternal, because they are knowable.
(1) 1

) 2

3) 3

4) 4

YRATT YR TH e & A79-0d & SaR Hafarad 3 § fg gfed § 9yRo ad N (e U8 s 8- & A1) Sfad g 2

1. TETS! UR Y3 § wife 39 AU |
2. 3 <y © T Tg 5 ¢ |
3. UGTSI IR 31f & i U5 I E |
4. it ol TR ©§ T 30 © |
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=38017] Question Description : general_paper_genarel paper_set 23_english_q30
2[Option ID=38018]

3[Option ID=38019]
4[Option ID=38020]
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What exactly is cloud computing ?

. A way to organize desktop computers.

. Software that takes up little space on a hard drive.
3. Computing resources that can be accessed on demand, like electricity from a utility.
4. The World Wide Web.

1) 1

) 2

(3) 3

(4) 4

FATSS HEGH T R G 2
1. S¥pclY HIYER] DI FISd P DI TH RIBT
2. 98 S dR ol ol gregrea 1§ UIS] R BRdl ¢ |
3. 3 ST (qRBE) T (i) S & 97 R gay (GT=) 81 9d o o fassdt sHgart

[

1[Option ID=38021] Question Description : general_paper_genarel paper_set 23_english_q31
2[Option ID=38022]
3[Option ID=38023]
4[Option ID=38024]

Sl. No.32
QBID:23201032

Given below are two statements :
Statements I : In an email system, Bee : allows recipients to be visible to all other recipients of the message.

Statement II : VoIP is the use of Internet to make phone cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement IT are False.
3. Statement I is true but Statement II 1s False.
4. Statement I is false but Statement IT is True.

(1) 1

2) 2

(3) 3

(4) 4

fRasEiume:

HYA T : 5 SHA TG T, Bee : ATadarst & 943 & T2t s araaaisfl, 8 exaam 81 3t
A gars

DY : VoIP, BIH B P 5 SUEI-C B I § |
IWRIad B & A |, 4 f3u e fgwedi & I U8l 3ok &1 994 Difoi:

1. HYT 1 AR 1 A T |
2. BUYT I AR EA 3T
3. HUT 1 9 B, At S 11 A &
4. FYT1 ITAE, AP YT 1 TI LI
(1)1
2) 2
(3) 3
(4) 4

1[Option ID=38025] Question Description : general_paper_genarel paper_set 23_english_q32
2[Option ID=38026]
3[Option ID=38027]
4[Option ID=38028]
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Using broadband to connect to the Internet has many benefits. Which of the following statements are TRUE in

this context ?

A. This connection does not allow you to use the land phone at the same time as being connected to the

Internet.

B. This connection allows a wireless connection
C. You are always connected to the Internet.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.Band C Only
4 A BandC

1) 1

(2 2

(3) 3

(4) 4

§EXIC W S 8 STSUS & WM BRA & 3D a1y § | Fafiild 3 o 3 oo a1saus S @

el wdigo

A. T8 PR 33! 1 $2xe T 93 67 & 999 ASaigy B & SUarT St Ak Tol aal g |

B. g P9I arETd (ddR) PRl Bl \3‘|T:||Ei e Pd % |

C. I FeAC A IS @A @ |
1 feu e f[as el O T Ul 3wk &1 99 BIfold:

1. %ad A 3R B
2. FadAINRC
3. HAAB IR C
4. A B3RC

1) 1
(2) 2

3) 3

4) 4

1[Option ID=38029]
2[Option ID=38030]

3[Option ID=38031]
4[Option ID=38032]

Question Description : general_paper_genarel paper_set 23_english_q33

Sl. No.34
QBID:23201034

Which of the following statements about networked computers are TRUE ?

A. Network users can communicate by email and instant messenger.

B. Files can easily be shared between users.

C. Viruses cannot be spread to other computers throughout a computer network.
D. It is possible for many users to access and share one printer on a network

Choose the correct answer from the options given below :

b=

Aand C Only

E I

. Aand B Only
1) 1
(2) 2
(3) 3
(4) 4

. A, Band D Only

.B, Cand D Only




Tead 4 oS e & IR § Fefafad o9 duE ae § 2

A, ST TR S0 SR @Rd HSARS (33 THOR) & AT & YU IR Fadl § |
B. WG & Hed BIgll Bl S 3 Tl fobar o 9pal ¢ |

C. T SR edd & 3 SR R 1A T YR Tol ol Joal ¢ |

D. [l Feds IR U e 0% s waiaaisl ot Ugd Sk 34 I A 91 ¢ |

Hid feu U fadedi T 9 TEl IR &1 98- Difeiu:

1.$ATA, B AR D
2. Fad AR C
3.%dd B, C AR D
4. Pad ARB

1) 1

@ 2

3) 3

(4) 4

1[Option ID=38033] Question Description : general_paper_genarel paper_set 23_english_q34
2[Option ID=38034]
3[Option ID=38035]
4[Option ID=38036]

Sl. No.35
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Which of the following are features that allow you to manage the windows desktop environment ?

A. Creating shorteuts
B. Renaming folders

C. Videoconferencing
D. Creating auto shapes
E. Adjusting icon size

Choose the correct answer from the options given below :

. Cand D Only
.Dand E Only

. A, Band E Only
. Aand B Only
1) 1

(2) 2

(3) 3

(4) 4

frafafad o 99 SH-0 fORvar § S & ! fasra S3@eld uRas & UarF &= 3 safd S g

b2 =

e Lo

A. qIeEHE G

B. DIt Bl G PRAl

C. difsal HIH AT

D. SIS &H1

E. RSP & MHR BT GHESH S

A feu T fosed § 9 981 3R &1 98- Biford:

1.%ad C ARD
2. %dd D AR E
3. HAd A, B IRE
4. FATAAIRB

1) 1

) 2

3) 3

(4) 4

1[Option ID=38037] Question Description : general_paper_genarel paper_set 23_english_q35
2[Option ID=38038]
3[Option ID=38039]
4[Option ID=38040]
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Given below are two statements :
Statement I : Turbulent and rapidly flowing waters are generally depleted in oxygen.

Statement II : Adding organic materials, such as sewage or paper pulp, to water stimulates activity and oxygen
consumption by decomposers.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement IT are Incorrect
3. Statement I is Correct but Statement II is Incorrect
4. Statement I 1s Incorrect but Statement IT 1s Correct
11
(2) 2
(3) 3
4) 4

Az fRrme:
BYT I : WafS SR ZeTHI a3 Halled STot AT SiTaRiier H &l gl Sian g |

HYA : T H T8 3udl el (UIR Ued) S Blal-e yard| ol a3 sfuuees! &1 idiafe sk
31 gRT ATFHoH STHT 9 SaT e |

SWRIGd PYH & HTalle H, Hd U [dhedl & I 9y Iugad SR &1 90 DI

1. ST AR 11 T B
2. PYT1 AR A Tad &
3. HYF I el 8, AfPA HYT 1 Tad ©
4. BYF 17T 8. A HYT 1 TS §

1 1
(2) 2
3) 3
(4) 4

1[Option ID=38041] Question Description : general_paper_genarel paper_set 23_english_q36
2[Option ID=38042]
3[Option ID=38043]
4[Option ID=38044]

Sl. No.37
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Meaning of Tsunami is ?

1. Oceanic wave
2. Harbour Wave
3. Coastal Wave
4. Oceanic earthquake
1) 1
(2) 2
3) 3
(4) 4

T & SR R

1. FETIFR o
2. TITyg T
3. A A
4. HEIRIT Y&
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38045] Question Description : general_paper_genarel paper_set 23_english_q37
2[Option ID=38046]

3[Option ID=38047]
4[Option ID=38048]
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Given below are two statements :
Statement I : International Solar Alliance (ISA) was launched on the side-lines of COP24.
Statement II : ISA was launched by Prime Minister Narendra Modi and President of France, Emanuel Macron.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement IT are False.
3. Statement I is true but Statement II is False.
4, Statement I is false but Statement II is True.

1 1

(2) 2

(3) 3

4) 4

EICECA K AT S

HUFL: HI.3. UL (COP)-24 & SR UD §6% U RIPY VR e (315 .TH.T.) BT YHURY fba1ar ot |
BUA I : YR TG VTTHA] 5 Hial SR BRI IRl SRS Hep] 7 o3 TH.U T YHRY a1 47 |
IRITd B & el T, 719 R Y e § 3 98t o) &1 994 S

1. BY 1 AR I A 9 B
2. BYT 1 AR 11 A 3T B
3. BYF 1 9d B, Al HY 11 3T B
4. BYT1 3TA ¢, W SUT 1 T 8
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=38049] Question Description : general_paper_genarel paper_set 23_english_q38
2[Option ID=38050]
3[Option ID=38051]
4[Option ID=38052]

Sl. No.39
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Match List I with List II

LISTI LISTII
(Risk assessment step) (Method)
A [Hazard I [Determining the size and nature of the
" [[dentification " |population that has been exposed to toxicants.
B [Dose response I [Estimation of the magnitude of the public
" |assessment " |health problem
C [Exposure m Characterizing the relationship between the
" |assessment " |dose received and the adverse health effect.
R ek Proc_ess of deter_min@ng_ whether or nota
D. 5 IV. |particular chemical is linked to a particular
characterization 2
health effect.

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I
2. A-IV, B-III, C-I, D-II
3. A-L, B-II, C-III, D-IV
. A-1, B-II, C-IV, D-TII
1) 1
) 2
(3) 3
(4) 4

e




il 11 gHl 11 9 e o

g1 11
i e s
39 SHEI & DR SR TPTd
A. [dehe ugaH L [l e o2 ot fo fadeht
i ¥ puifad gs of |
- sﬁﬁrﬁmﬁh s [T T GHE & THRA @I
|3 AT Fehic B TSR
Tl B3 Siol (HET) 3R fauid
C. [WHIGH Jedich | 111 [T UHTa o Hed Tt i
ERLGIERIGE
fen it Taf2ry <o ot fdt
D [FREEERE- |, [ARE e g 9 e |
B EEL " Jatuar el T (i & &t
ik an
frafaiad fameal & 9 981 IR o1 9g- Bife -

1. A-IV, B-IIL, C-II, D-1
2. A-IV, B-IIL, C-I, D-II
3. AL, B-IL C-IIL, D-IV
4. A-L, B-IL, C-IV, D-III
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=38053] Question Description : general_paper_genarel paper_set 23_english_q39
2[Option ID=38054]

3[Option ID=38055]
4[Option ID=38056]

Sl. No.40
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Which of the following Volatile Organic Compounds (VOCs) are emitted from anthropogenic sources only ?

A Isoprene
B. Benzene
C. Terpene
D. Methane
E. Toluene

Choose the correct answer from the options given below :

1. A, B and C Only
2.B and E Only

. Aand C Only
.C, D and E Only
1) 1

(2) 2

(3) 3

(4) 4

frofataa & Y 5H-3 srunl s 3ife @teid) Faw graetd Wikl 3 Sl o € 2

A, JEIYE
B. doiH

C. wWIH
D. #HigA

E. T1qg
A feu e fas eyl § 9 981 SR &1 98- Biford:

e T




1[Option ID=38057] Question Description : general_paper_genarel paper_set 23_english_q40
2[Option ID=38058]
3[Option ID=38059]
4[Option ID=38060]

Sl. No.41
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Which of the following education commissions of India noted that - "It is obvious that if higher education is
not radically improved, our administration and techniecal progress, our intellectual standards and social
advance, will all be most seriously handicapped" ?

1. Kothari Commission
2. Radhakrishnan Commission
3. Hunter Commission
4. University Education Commission of 1948.
(1) 1
) 2
3) 3
(4) 4

FraferiRaT 5 § R & o fRre ot 3 e ara1 i a6 ey & o afe gk Rien 7 s g guR
TE1 {3 741 Gl SHRT U, G- WiIfd, §9R SIS ® AMEs iR T gard o1fg 9t aga 1k
=0 aifed gl 1

1. BISRT TIAT
2. THW AT
3. e I
4. 99 1048 P fgsyfaenea fem smam
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=38061] Question Description : general_paper_genarel paper_set 23_english_q41
2[Option ID=38062]
3[Option ID=38063]
4[Option ID=38064]

Sl. No.42
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Given below are two statements :
Statement I : Central University is established under an act of Parliament.

Statement II : The Prime Minister of India acts as the visitor of the Central University.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement II are Incorrect
3. Statement I is Correct but Statement II is Incorrect
4. Statement I is Incorrect but Statement II is Correct
1) 1
(2) 2
(3) 3
(4) 4

2 Gy Ruu E:
U1 - 99 & A0 & ded sy Fyfare st w1 Sl R |

BYF 11 : HRA & FUTHA d=1d fayfaenaa & s (9fves) & afia @1 FRde a=d § |
SR Y- & HTale H, - 3L fadeul ¥ 9 9ad Iugad ok &1 98- HIfolC:

1. BUF 1 AR 11 G T B
2. HYT 1 AR 11 & Tad &
3. PYF I 9el 8, AfPI PYT 1 TTad §
4. BYF 1 TTAd &, Afpd U 11 Tel &

1) 1
(2) 2
3) 3
4) 4

1[Option ID=38065] Question Description : general_paper_genarel paper_set 23_english_q42
2[Option ID=38066]




3[Option ID=38067]
4[Option ID=38068]

Sl. No.43
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Which of the following major initiatives have been taken by UGC, with a mission to address ethical practices
in research and publications.

A. Jeevan Kaushal

B. Mulya Prawah

C. GARP - Guidance Document on Good Academic and Research Practices
D. CARE - Consortium for Academic Research and Ethics

E. DIKSHA - Digital Infrastructure for knowledge sharing.

Choose the most appropriate answer from the options given below :

A, Cand E Only
A, B.Cand D Only
.B. C and D Only

. B and E Only

1) 1

(2) 2

3) 3

4) 4

ST T8 YA § Afde s9aeR &R & o & e U@ iR & 91y goi g1 Fefafaa d 3 @
N E A B TS 82

A. G ®ITd

B. o0 UaI§

C. T (GARP) - o~ ST 31 IS Tha i Us Nud Uiaead
D. 3R (CARE) - H-HIf¢gH BR Tl I Us gfiey

E. GI&f (DIKSHA) - [Sfued g3pRgaar BR Alad R
- f&U T fowedl & 9 9ad SUgad IR &1 I BT

1.$AAA, C AR E
2. HAAA, B, C AR D
3. %dd B, C AR D
4. $ad B AR E

1) 1

@ 2

@) 3

4) 4
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e L

1[Option ID=38069] Question Description : general_paper_genarel paper_set 23_english_q43
2[Option ID=38070]
3[Option ID=38071]
4[Option ID=38072]

Sl. No.44
QBID:23201044

Which commission of Education in India expressed the opinion that to avoid famine in the country, the
production of Food must be doubled in the next 15 years and maintain an adequate growth thereafter ?

. Kothari Commission

. Nation Education Commission of 1964

. Radha Krishnan Commission

. University Education Commission of 1948,

R R

(1) 1
(2) 2
3) 3
(4) 4

YRa H 1l & 69 SaRT - % Hd ogad (9 b HRA H SieTel 1 991 & Q1Y STd 15 al H @1
FdTEH SR BT R 3P 94T 9T 9fG Pl SRPRR G 61T 2

1.%@3@
2. Gy 1064 BT forem ama
g et

4. 39 1048 T fayfaeera frer smanT

1) 1
2) 2
(3) 3
(4) 4




1[Option ID=38073] Question Description : general_paper_genarel paper_set 23_english_q44
2[Option ID=38074]
3[Option ID=38075]
4[Option ID=38076]

Sl. No.45
QBID:23201045

Which among the following setved as centres of learning and teaching during the ancient period in Southern
parts of India ?

A. Agraharas
B. Ghatika

C. Brahmapuri
D. Maktabas

Choose the correct answer from the options given below :

.Aand B Only

. A and C Only
A B.CandD

. A, Band C Only
1) 1

(2) 2

(3) 3

(4) 4

Wﬁﬂﬂgﬂﬁ%%ﬁaﬂﬁwﬁﬁaﬁ@aﬁﬁw&maﬁ?ﬁrwéﬁ%wﬁmw
& & 2

[

a2

A. 3UBR
B. Ufe®1
C. SRR

D. Haaq
1 f4T T fad el © 9 Hel 3R &1 94 DIfold:

. HadAAIRB
FaA AR C
_A.B.C3RD

. HAAA, BIARC
1

2) 2

(3) 3

(4) 4

L R R

i

1[Option ID=38077] Question Description : general_paper_genarel paper_set 23_english_q45
2[Option ID=38078]
3[Option ID=38079]
4[Option ID=38080]
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

USA purchased vast territories from

A, France
B. England
C. Mexico
D. Russia

Choose the most appropriate answer from the options given below :

.Aand B Only
.Aand C Only
. B and C Only
. Aand D Only
(1) 1
(2) 2
(3) 3
(4) 4

g oY SR feb G2l & fasga YHrT@RIg 2

AT

B. STAS
c. Afdgs!
D. 39

[

S

1 AU T fdeedl & 9 9o SUgEd SR &1 90 BT

1.$ad A 3R B
2. BT ASRC
3. PadAB 3R C
4. HaAAARD
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38081] Question Description : general_paper_genarel paper_set 23_english_q46
2[Option ID=38082]

3[Option ID=38083]
4[Option ID=38084]
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

USA became the topmost industrial power of the world by

1. The end of eighteenth century
2. The beginning of the nineteenth century
3. The middle of the nineteenth century
4. The end of the nineteenth century
1) 1
(2) 2
(3) 3
(4) 4

e o SRE $d ao fay &1 9ad a9 sieifie wfed & mar 2

1. 3{BRed! ¥al & 3fd P
2. FHdl Hal & URY a
3. JHANd] el & 7 dP
4. FHd] 9l & sid dP

(1)1

2) 2

(3) 3

(4) 4

1[Option ID=38085] Question Description : general_paper_genarel paper_set 23_english_q47
2[Option ID=38086]
3[Option ID=38087]
4[Option ID=38088]
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

Given below are two statements :

Statement I :The territories near the West coast of North America became part of USA much later than those
near the East Coast.

Statement IT : USA gained independence from England in the nineteenth century.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement II are Incorrect
3. Statement I 1s Correct but Statement II 1s Incorrect
4, Statement I is Incorrect but Statement II is Correct
(1) 1
) 2
(3) 3
(4) 4

fRdeEume:

HYA L : T SRS & T 7 & e F YU gdf o0 & Fde & YMFT S a1 8 agd a6 5
Y I SHRSBT & HFT & |

B 1 : YGad T SRDT DI S0l s H SHTSg] Sawal 4g1 § el |
TIRITd DY P A1eiiep 1, =i QU Y faeedl # 3 98 I9gad IR DI 98 SIoig:

. HY 1 3R 11 ST Tl §

HYF 1 R 1 A Tad €

BT 1Tl g, AT HYT 1 Tad ©
. PYF 1A 8, AP YT 1 TS ®

(1) 1
(2) 2
3) 3
(4) 4
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3[Option ID=38091]
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
3T I Hoigy 1 Bd U, 9 4 U 81 7T | 76 g | Sf&0fl Irsal & WRIed & URUTEEEY 64 &1
&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

The resistance of American Indians against the territorial expansion of USA ended

. About 50 years after USA came into existence

. About 25 to 30 years after the Civil war in USA

. About 25 to 30 years before the Civil war in USA
. About 25-30 years after USA came into existence

T

1) 1
(2) 2
3) 3
4) 4

Tga Ao SHRPT $ &7 fTRIR & [d3g SERe YRdl o1 ufdRly a1 g3

1. JUEE ST H&red H o & a1g T4 50 I9 0
2. qUHU E T g5 & 25 ¥ 30 9Y Uy
3. UNUH R 4G & U 25 W30 oy gd
4. JUHU & 3 § 3 & T 25-30 99 9T
1) 1
2) 2
3) 3
4) 4

1[Option ID=38093] Question Description : general_paper_genarel paper_set 23_english_q49
2[Option ID=38094]
3[Option ID=38095]
4[Option ID=38096]
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Read the following passage and answer the question given below :

During about a hundred years after the thirteen English colonies on the east coast of North America had won
their independence from England and emerged as the United States of America, that country had attained its
present territorial proportions. The westward territorial expansion of the United States took place at the cost of
the American Indian Tribes which inhabited those areas. The American Indians resisted these encroachments
but by 1890 this resistance finally ended in a massacre at a place called Wounded Knee in South Dakota, USA
also purchased vast territories of Louisiana and Alaska from France and Russia, respectively and Seized Texas
and California from Mexico after a war with that country. Between 1861 and 1865, there was a civil war when
the southern States of USA, which were primarily agricultural with plantations worked by slave labour,
seceded from the Union. As a result of the defeat of the southern States in the civil war, the Union was
preserved and slavery was abolished.

Within about three decades after the end of the Civil War, USA had become the foremost industrial power in
the world. By the end of the nineteenth century. she was producing about one-third of the total production of
iron and steel in the world. In almost every branch of industry. she outstripped every other country in the
world.

frofaRad Ty &1 ufgu Sk = feu T Uy 1 3w i |

S!S & gdf de W ke el SufaRi & S1Tcis § Waaadl UK SR SR Tgad g SERST &
U H FURA & 1€ I 100 T & SR SARDT = SO Ao[al YHT Wit far | Sad g SR
D1 gL YT feR MRS YR Sl &1 BiHd U g3 ol 34 &1 1 7ed ¥ | 3Re!
YR = 7 ifdshHuT o7 UicRle g uR=q 1890 T 59 UiaIY & uRUIfd W8y Sleld dss Ar
T R IR RYER & =9 1 §5 | Ygad Iy SURDT = Wiy 3R 39 Y HH: GRIH SR Had] &
farge T ol W11 SR AiTuS] I 4 R CaT IR SITmI-a &1 U= SiteR o fadr 11961 3R
1965%&‘1%{113?5%%@?@%@ 3IRepT & il ey Sl gea: BN 3R US-Uld gad U 3R
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&1 5% SR 1Y T 1 I+ e gl |

6 g O JHITG B SURI THTHAT 1 GR11 & iR Tga 1y SEReT [y o1 9ad i sligifiie wfa
& TR | S Al & o d SRS H [ay H 1l IR 3310 & $a SUIE D UP-IETs Sl 8l
T | FENT & W U & 8 SR fay & gl g8 a2l 8 3l &g 7 |

Given below are statements :

Statement I : The southern states were successful in receding from the USA after the civil war.
Statement IT : Abolition of slavery was one of the outcomes of civil war in USA.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are Correct
2. Both Statement I and Statement IT are B4Incorrect
3, Statement I is Correct but Statement II is Incorrect
4. Statement I 1s Incorrect but Statement II 1s Correct
(1) 1
(2) 2
(3) 3
(4) 4

EIEEARAIICTE)
DY : TH&UT 58 76 G5 P SURId 6gad oY SRS | JUD 61 H a6 |

DYT I : S WY1 ST 3o guIU H [egs o URUMH H 4 TP T |
TWRId DY D 3fciiep H, - U Y fawedl § 3 Tad Iugad IR DI 98 DIy

U1 AR 11 & el §
CHYF IR I A Taa §
.Y 1Tl . AP HYF 1 7TTd §
. DY 1 TTed 8, Al HY 11 el ©

(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=38097] Question Description : general_paper_genarel paper_set 23_english_q50
2[Option ID=38098]
3[Option ID=38099]
4[Option ID=38100]

Paper II : 2-Political Science



Sl. No.1
QBID:12001

‘A democracy is more than a form of government. it is a mode of associated living’. who said this?

. Jawaharlal Nehru
. John Locke

. John Dewey

. Gandhi

(1) 1

(2) 2

3) 3

(4) 4

feAfataa § & forad 9z %1 o1 [ @liwa eA & UF T%E (¥9) 3 3 A 8, 98 agdiiad e
fqats 1 U @ 21

ba =

= o

1. SATE ATl Aa®
ECRiED
3. 94 Tt
4. TTTet
1) 1
) 2

3) 3
(4) 4
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1[Option ID=37501] Question Description : political_science_political science _set 1_english_q1
2[Option ID=37502]
3[Option ID=37503]
4[Option ID=37504]

Sl. No.2
QBID:12002

Sophie or Sophia is a character in which of the following books?

. Republic

. A Vindication of the rights of women
. The Archaeology of knowledge

. The human condition

1 1

(2) 2

(3) 3

(4) 4

arfl tgan difean fetwa 5 o foeg g5as &1 uh g 27

| S

o

[

1. EXR
2. ¢ fafredem @ifw = ugea % 04
3.7 AT AT Aeds
4.7 GQEAHEH
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=37505] Question Description : political_science_political science _set 1_english_q2
2[Option ID=37506]
3[Option ID=37507]
4[Option ID=37508]

Sl. No.3
QBID:12003

Who among the following has used the terms internal restriction and external restriction in the discourse of multiculturalism?

. Bhikhu Parekh
. Will Kymlicka
. Okin

. B, Berry

1) 1

(2) 2

3) 3

4) 4

o =

da o
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1. Wig ar

frafer
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1) 1

2) 2

3) 3

4) 4

1[Option ID=37509] Question Description : political_science_political science _set 1_english_q3
2[Option ID=37510]
3[Option ID=37511]
4[Option ID=37512]

Sl. No.4
QBID:12004

For whom among the following M.B. Foster has stated that his political thought represents more of a Pagan revival than a Protestant
religion?

1. Machiavelli
2. Hobbes
3. Bentham
4, I.S. Mill
(1) 1
(2) 2
(3) 3

(4) 4
A ~

feifra |5 @ fraes fau wasfi. wreer 3 a1 2 6 s goHifas fAar arees-e ad i smen 9
eI FI A W 1 87

1. AframAet
2. Bied
3.3 Fq
4. 3.09. foaa
1) 1
) 2

3) 3
4) 4

1[Option ID=37513] Question Description : political_science_political science _set 1_english_q4
2[Option ID=37514]
3[Option ID=37515]
4[Option ID=37516]

Sl. No.5
QBID:12005

“Qur souls have been corrupted in proportion to the advancement of our sciences and our arts towards perfection™. It is mentioned in :

1. Discourse on the Science and Arts
2. Revolt against reason

3. The Wealth of Nation

4. The Theory of Moral Sentiments

freifera # sfgfaa 21

TAree areee o
7 ATY SATE ATH

[am—y
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=37517] Question Description : political_science_political science _set 1_english_q5
2[Option ID=37518]

3[Option ID=37519]
4[Option ID=37520]

Sl. No.6
QBID:12006

Which one of the following is not Aristotle’s work?

. Politics

. Nicomachean

. Eudemian Ethics
. Apology

b =

Lo

(1) 1
) 2
(3) 3
4) 4

freafafaa 4 @ ®-4 o swq f Fa (=) 78 27
1. gifcateFa

§

™,
3.39¢ ufsra
LU e

4, SAYTATSI
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=37521] Question Description : political_science_political science _set 1_english_q6

2[Option ID=37522]
3[Option ID=37523]
4[Option ID=37524]

Sl. No.7
QBID:12007

Which one of the following is perfect. eternal and fixed according to Plato?

1. Matter
2. Ideas
3. Raw Material
4. Darkness
(1) 1
(2) 2
(3) 3
4) 4
~ o

wiel % AN AEfdigd # d FI9 Uk qUI, IYEd uA fHEa 27

1. 9a14
i
3. SATNaa |
B
4. ETh9
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37525] Question Description : political_science_political science _set 1_english_q7
2[Option ID=37526]

3[Option ID=37527]
4[Option ID=37528]

Sl. No.8
QBID:12008




The *Analects’ is related to :

. Nicomachus

. Plato

3. Confucius

4. Chou dynasty
(1) 1

(2) 2

(3) 3

4) 4

i Tue (AT Ferafad 5 o feag gafaa 27
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1[Option ID=37529] Question Description : political_science_political science _set 1_english_q8
2[Option ID=37530]
3[Option ID=37531]
4[Option ID=37532]

Sl. No.9
QBID:12009

When and at which place in South Africa the Indians assembled, demonstrated and took the oath of passive resistance?

. September 1906, Johannesburg
. October 1906, Natal

. September 1905, Pretoria

. October 1905, Pietermaritzburg

b =

Lo

1) 1
(2) 2
3) 3
4) 4

=feq01 ST § WAl 210 el AN FEl W YR A1 T UF 39 210 Ushd Bl Hishd afdte s fi
fafaaa sy ot 157

1. fHasE 1906, Sraig=m

2. STFEAT 1906, 2T

3. fads 1905, fraifan

4. STFEIT 1905, dreHfzs=m

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37533] Question Description : political_science_political science _set 1_english_q9
2[Option ID=37534]

3[Option ID=37535]
4[Option ID=37536]

Sl. No.10
QBID:12010

Who among the following launched the *Self-Respect Movement” in 19257

1. Dr. B.R. Ambedkar

2. Mahatma Phule

. E.V. Ramaswami Naicker
. 1.P. Narayan

e

1 1
(2) 2
3) 3
(4) 4
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3.3 4. THEAM! TEE
4,949, TR

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37537] Question Description : political_science_political science _set 1_english_q10
2[Option ID=37538]

3[Option ID=37539]
4[Option ID=37540]

Sl. No.11
QBID:12011

Who among the following categorized laws into two types : the Shariat and the Zawabit?

. Dara Shukoh

. Basava

. Abul Fazl

. Zia Barani

(1) 1

(2) 2

3) 3

(4) 4

el el e R

freafafaa | @ foraa fafa (FEn) #1721 gr, sifiad va safsd & &9 9 e @ o

1. 217 foreriz
2. ATEAT

3. SAA FIAA
4, Tz =i

(1) 1
2) 2
3) 3
(4) 4

o =
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1[Option ID=37541] Question Description : political_science_political science _set 1_english_q11
2[Option ID=37542]
3[Option ID=37543]
4[Option ID=37544]

SlI. No.12
QBID:12012

When did M.N. Roy dismantle his Radical Democratic Party?

. 1940
. 1945
. 1948
1950
(1) 1
(2) 2
(3) 3
(4) 4

o o=

e

i W . ™ Ty

feifehd 5 @ form v | UH.UA. 3T 9 A9 ighd SR ek ardl +l Wied (T9m) F fZar?

. 1940
. 1945
. 1948
. 1950
1) 1
2) 2
3) 3
4) 4

3 =

L

1[Option ID=37545] Question Description : political_science_political science _set 1_english_q12
2[Option ID=37546]



3[Option ID=37547]
4[Option ID=37548]

Sl. No.13
QBID:12013

Why Robert Nozick agrees with anarchist assertions regarding the position of State?
Pick the incorrect argument

1. Tt is intrinsically immoral.
2. It maintains monopoly on the use of force.
3. It violates individual rights.
4. It’s motive is welfare of citizens.
1) 1
(2) 2
(3) 3
(4) 4

eI Aifsh T4 & FEHV & TR H SAUIHAER] ATHFIA T 741 TeAd 8 ¢ Feranad § d 7ad a &l

o -

1. 9% SAqqd ®9 T SAqF 2

2. 9% Il & JANT T THIFHE SA1T WA 2
3. 9% AT SATGHRT F IZIH Tl 2
4. 3HFHT ATTYTH TR FT FHoa107 2l
1

) 2

3) 3
4) 4

1[Option ID=37549] Question Description : political_science_political science _set 1_english_q13
2[Option ID=37550]
3[Option ID=37551]
4[Option ID=37552]

Sl. No.14
QBID:12014

Which of the following statements is not correct regarding Union Public Service Commission (UPSC)?

. The President of India can remove the Chairman of UPSC.

. In case of removal of Chairman. the President has to refer the matter to the Supreme Court for an enquiry.
3. An Individual Ministry or Department has no power to reject the advice of the UPSC.

4. The State Governments can ask the UPSC to conduct the examinations for concerned state.

1) 1
(2) 2
3) 3
(4) 4

freafafiaa § @ F9-w1 Fu= @ i da1 A= (9 wm ) & ar g ad 42 27

o =

1. 9T o Tgafd U9 Al Yal 7T & L9 Hl 9% T 521 Ad 2|
ST (FAEA) B g 9H I fwufd |, agafd 53 9l &1 S 8q a9 AT ) TAEa w2
forelt woraa o T 1 99 e a1 TR @rs i T8 J i wiiE A48 O 2|

4. 05 WY Tvg grER, U9 AIG 941 AT Fetad Usd & [ad qeiadl & Geifd #4 & [au SA0E 1 J6Hal ¢
1) 1
) 2

3) 3
(4) 4
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1[Option ID=37553] Question Description : political_science_political science _set 1_english_q14
2[Option ID=37554]
3[Option ID=37555]
4[Option ID=37556]

Sl. No.15
QBID:12015




Which of the following statements is correct regarding the vote value of a member of Parliament in presidential election?

Total value of votes of all MLAs of all States & UTs
Total Members of Parliament
Total value of votes of all MLAs of all States & UTs

Total Number of elected Members of Parliament
Total value of votes of all votersof the country

3. Vote Value of MP = :
Total Members of Parliament
Total value of votes of all MLAs of all State & UTs
Total Members of Lok Sabha

[

. Vote Value of MP =

[

- Vote Value of MP =

4. Vote Value of MP =

1 1
(2) 2
3) 3
(4) 4

gt TAE | R gor aa & §a god & G5 H feaigd § 3 &4 a1 w99 T8 27

Tift 7= vE w9 T W & F @ fum ww wmen & o W 5 e
ot TS vE HE TA Wid &4 & el fem W wee % oad # 9e I

1. ©4e wemm #1 wa T

2. HHe HEEE WA ged =

. = % @ft wagraeT & T W Fe 0o
3. T WEH W A T = T
HYs = el §ed
4. weE weEE WG A =
SEI % Fel T

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37557] Question Description : political_science_political science _set 1_english_q15

2[Option ID=37558]
3[Option ID=37559]
4[Option ID=37560]

Sl. No.16
QBID:12016

Which one of the following fundamental duty is inserted by 86th Constitutional Amendment in Asticle 51-A7

. To strive towards excellence in all spheres of individual and collective activity.
. To provide opportunities for education by the parents to their child.

. To develop the scientific temper, humanism and spirit of inquiry and reform.

. Respect to the National Flag and Symbols.

o =

Lo

(1) 1
(2) 2
(3) 3
(4) 4

efaiad § 8 FF °1 Jiia® Fa=9 $63 G qied & gR1 ST=8% 51-T F SISl 1 27

1. ZAfFTa UA Anfes FEFAm & a4t &7 § Iehudl UTH FA H TAE A
2. HIAT-T9aT g1 319 sI=a 1 3181 & 98 Y2 AT
3. AT HANTE, HAAAAERE q91 51 Fi 9E1 U gari F HEd &
4. TEE AT UF YAl T AT

11

) 2

3) 3
(4) 4

1[Option ID=37561] Question Description : political_science_political science _set 1_english_q16
2[Option ID=37562]
3[Option ID=37563]
4[Option ID=37564]

Sl. No.17
QBID:12017




Which are the six minority religious communities notified by the National Commission for Minorities (NCM) setup by the Union
Government under the National Commission for Minorities Act 19927

. Muslims. Christians, Sikhs. Buddhists. Zorastrians. Sindhis

. Muslims. Christians. Sikhs. Buddhists. Sindhis. Bahais

3. Muslims, Christians. Sikhs. Sindhis. Bahais. Jews

4. Muslims. Christians. Sikhs. Buddhists. Zorastrians and Jains

=

1) 1
2) 2
3) 3
4) 4

P SA-TEITF AN AaH, 1992 & Add g THE gRT Med TLF AR AEm (T i
udq) g fAfafad § @ #F 8 ®:8 aifHe Acaaems aqaE Atead f+d 19 87

1. Hfeam, o3, o, aitg, awE, ot

2. Hfeam, sams, fow, g, faedt, @@

1[Option ID=37565] Question Description : political_science_political science _set 1_english_q17
2[Option ID=37566]
3[Option ID=37567]
4[Option ID=37568]

Sl. No.18
QBID:12018

Who among the following conducts the elections at Polling Station?

1. Polling Agent
2. Presiding Officer
3. Returning Officer
4. Revenue Officer
1) 1
(2) 2
(3) 3
(4) 4

HAZH ¥Id T gAE H Tl [Frangd § 8 w1 27

e st
3. fratem st
4. o AtaHERL

1 1
2) 2
3) 3
4) 4
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S

1[Option ID=37569] Question Description : political_science_political science _set 1_english_q18
2[Option ID=37570]
3[Option ID=37571]
4[Option ID=37572]

Sl. No.19
QBID:12019

Who among the following is pioneer of Public Interest Litigation?

. Justice S.N. Benarji

. Justice PN, Bhagwati
. Justice Hingorani

. Justice Ranjan Gogoi

| S

Lo

1 1
(2) 2
3) 3
4) 4



feAfafaa 5 @ #9 A Jias & ST (TIuETH) 97

1. ¥TEH [ UH.TH, St
=rEEfd 9. e, wAdl
3.+ FrEEfd fE
4.7 1 TS TS
1) 1
) 2

3) 3
(4) 4
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1[Option ID=37573] Question Description : political_science_political science _set 1_english_q19
2[Option ID=37574]
3[Option ID=37575]
4[Option ID=37576]

Sl. No.20
QBID:12020

Who among the following contributed to the framing of National Rural Employment Guarantee Act?

Jean Drieze
Aruna Roy
Medha Patkar
Baba Amte

b

U

1 1
(2) 2
3) 3
4) 4

TP T TR RS SATaEH & 99 # AeEfaiad § 3

EeE| -lJHI"I-I frar an v

1. 59T 5

2. ST T
3. 5T I
4. SITalT AT

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37577] Question Description : political_science_political science _set 1_english_q20
2[Option ID=37578]

3[Option ID=37579]
4[Option ID=37580]

Sl. No.21
QBID:12021

Which one of the following is not a principle among the originally framed six principles of ‘Citizen’s Charter Movement’?

1. Choice
2. Value
3. Accountability
4. Quantity
1)1
(2) 2
(3) 3

(4) 4
—

T AT SAFAIAT o (o ol &9 @ 5410 70 ©: fagidi § ° fefaftaa sa-ar us fbga 9@ 27

1.9

Hed
F, Glalalﬁgri
4, HIAT

1) 1

(2) 2

3) 3

(4) 4

[




1[Option ID=37581] Question Description : political_science_political science _set 1_english_q21
2[Option ID=37582]
3[Option ID=37583]
4[Option ID=37584]

Sl. No.22
QBID:12022

Which of the following amendment is related to *anti-defection’?

1. 51% Amendment

2. 5224 Amendment
. 53 Amendment
. 59t Amendment
(1) 1

(2) 2

3) 3

4) 4

ffefiaa @ @ =9 a1 gsiaq =dasa-Ata @ et 87

RO

1. 5141 |9=1mdad
o 20
2. 5241 HImIA
AR §
3. 5341 3
o L BN
4. 5941 {3
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=37585] Question Description : political_science_political science _set 1_english_q22

2[Option ID=37586]
3[Option ID=37587]
4[Option ID=37588]

Sl. No.23
QBID:12023

The four Ps in the 4 Ps theory of departmentalization as advocated by Luthur Gullick are

. Purpose, Persons, Place, Process

. Persons, Place, Process and Programmes
. Process, People, Policies and Perception
. People, Public, Problems and Perception
1

(2 2

(3) 3

4) 4

R T FR AMqI=d A9 % 4 @ faga § 97 ff %1 aed 2

W I

B

1. 3299, =4(th, T4, isHal
2. =4k, T4, UiFEaT S FiEw
3. ufsean, i, Hifqal @i =g
1 1
) 2

3) 3
(4) 4

1[Option ID=37589] Question Description : political_science_political science _set 1_english_q23
2[Option ID=37590]
3[Option ID=37591]
4[Option ID=37592]

SlI. No.24
QBID:12024

According to Follett the difference between ‘power’ and ‘authority” is

1. Power exists when orders are obeyed irrespective of resistance. authority exists when orders obeyed voluntarily.
2. Power can never be delegated. authority can be delegated.

3. Authority exists when orders are obeyed irrespective of resistance. power exists when orders obeyed by force.
4. Authority can never be delegated, power can always be delegated.




(1)
(2)
(3)
(4)

BIdE & SR WH AL AT & 7 S 8 -

S h W N R

1. 717 e SATEqeas aidl & S AT & Sfata-0er S are far Sar 2, g as Afedoaans
Il 8 9 AR 1 FHEIYEE T (AT a2l
31T Rl 1 i et 981 foan o geedr 2, O gegEitad S g 21
3. O] a9 AfEqeaa™ Bidl 2 S AR il SiaUd - S ured [ Sdn 2, 5w ad SAfeqoaas
Il 8 99 AR H A ddq s el 2l
4. 971 H FH H) TeFEit T8 fEA S gar 2, T B G99 YeAEiod [RA1 S @ 2
1) 1
2) 2

(3) 3
(4) 4

]

1[Option ID=37593] Question Description : political_science_political science _set 1_english_q24
2[Option ID=37594]
3[Option ID=37595]
4[Option ID=37596]

Sl. No.25
QBID:12025

The literature on New Public Administration lays emphasis on

Relevance. Relatedness. Moral Values and Equity
Relevance. Values, Ethics and Change

Values. Ethics, Relatedness and Self Reliance
Relevance. Values, Equity and Change

e

L

(1) 1
(2) 2
3) 3
(4) 4
~

A Al IS W AT AffEcd Fefaiad ™ S 2491 @

1. UTEfTERAT, Gagal, Afds goa AR awd
2. UTERTERAT, Hed, HifqemE it 9fiEdd
3979, Fifewmer, Fegar A sAer- AT
4. ITEfTRAT, god, TR S qiEdd

1) 1
2) 2
3) 3
(4) 4

1[Option ID=37597] Question Description : political_science_political science _set 1_english_q25
2[Option ID=37598]
3[Option ID=37599]
4[Option ID=37600]

Sl. No.26
QBID:12026

Which is the fifth stage of Policy Cycle according to Harold Lasswell?

Promotion
. Invocation
Application
Intelligence

[

da o

1 1
(2) 2
3) 3
(4) 4




alice AraAd % SAER ARG § 8 -1 U, HAfd-=sk H oiadl sqaem 27

S

. HATald

3. SATENT
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37601] Question Description : political_science_political science _set 1_english_q26
2[Option ID=37602]

3[Option ID=37603]
4[Option ID=37604]

Sl. No.27
QBID:12027

Which of the following Ministry is associated with Swachh Survekshan?

. Ministry of Water and Sanitation

. Ministry of Housing and Urban Affairs
. Ministry of Rural Development

. Ministry of Finance

1) 1

2) 2

(3) 3

(4) 4

fFAfaiad 5 ¥ FH-A1 99d To8 TG94 ST99H 8 Fetag 27

o =

U

1. 91 UF TRl HATAA

. SATEEA U5 T w1 qAdd
3. T faeer garerd
4. fom1 geerm

(1) 1

(2) 2

3) 3
(4) 4

o]

1[Option ID=37605] Question Description : political_science_political science _set 1_english_q27
2[Option ID=37606]
3[Option ID=37607]
4[Option ID=37608]

Sl. No.28
QBID:12028

Which of the following is the first state to bring Social Audit Law?

. Andhra Pradesh
. Meghalaya

. Tripura

. Chhattisgarh
1) 1

(2) 2

(3) 3

(4) 4

fAfafad § FH-31 98 dadl WEdE T4 2 foa amfas aodar-fata #1 anp fe 27
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1[Option ID=37609] Question Description : political_science_political science _set 1_english_q28
2[Option ID=37610]
3[Option ID=37611]
4[Option ID=37612]

Sl. No.29
QBID:12029

Which of the following Ministry/Aayog is associated with Good Governance Index?

1. Ministry of Personnel Public Grievances and Pensions
2. Ministry of Rural Development

3. Ministry of Housing and Urban Affairs

4. NITI Aayog

1) 1

(2) 2

(3) 3

(4) 4

fefafad 5 9 F9-01 F31ed /A= I I O Gad 8¢

[ty e S o o :
HIHF Ak [rFEd U UeH /A
TTHIuT AR JAeE
3. AEEA UF 9IEl w1 qAad
4. A A=A

1) 1

) 2

3) 3
(4) 4
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1[Option ID=37613] Question Description : political_science_political science _set 1_english_q29
2[Option ID=37614]
3[Option ID=37615]
4[Option ID=37616]

Sl. No.30
QBID:12030

Which of the following Act is also known as ‘Hyde Act’?

1. U.S. — India Economic Co-operation Act
2. U.S. — India Peaceful Atomic Energy Co-operation Act
3. U.S. — India Trade Co-operation Act
4. U.S. — India Arms Trade Act
1) 1
) 2
(3) 3
(4) 4

feferliad § @ fea Afafzm $1 352 UFe & ®9 # | SHE1 ST 8 7

1. 9,08, -1d SAM9F Tean Ata-=a
2. 9. TF, -G 0l AT F91 TAnT St
3.9.09, -9Ad =AM g4 SAtar-Es
4.7.09, -91d 7= =AWR AfafEm
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=37617] Question Description : political_science_political science _set 1_english_q30
2[Option ID=37618]
3[Option ID=37619]
4[Option ID=37620]

Sl. No.31
QBID:12031




Which of the following are principles of Panchsheel?

A. Mutual respect for each other’s territorial intergrity and sovereignty
B. Mutual Non-aggression

C. Interference in each other’s affairs

D. Equality and co-operation for mutual benefit

E. Equal Existence

Choose the most appropriate answer from the options given below :

1. (A). (B). (C) only
2. (A). (B). (D) only
3. (B). (C). (D) only
4.(C). (D). (E) only

1 1

(2) 2

3) 3

4) 4

frafafaa 5 @ #9 ° J=sita & fage 87

A UF-7a i Ui swEEar SR g % ufd e aEe
B. URETah SAATHHUI

C. UF-7AL Al H g%aa

D. UREIE 19 & [l @HHaT A agdm

E. 9 sAfeqea

= fou U fasedl § ° G99 S9E ST 1 99 I

1. %A (A), (B). (C)
FAd (A), (B), (D)
3. %A (B), (C), (D)
4.%Ad (C). (D), (E)

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=37621] Question Description : political_science_political science _set 1_english_q31
2[Option ID=37622]
3[Option ID=37623]
4[Option ID=37624]

Sl. No.32
QBID:12032

When did a Female Police Personnel from India took part in “first-ever peace keeping operations™?

. January 2007

. February 2008
. January 2006

. February 2009
(1) 1

(2) 2

(3) 3

(4) 4

ard i Tt afear ofaa @3 <adyam mfa s stfaam % w= | @9 | famn are

L. SFET 2007
2. %3 2008
3. SFET 2006
4. %3F1 2009

1) 1
(2) 2
(3) 3
4) 4
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1[Option ID=37625] Question Description : political_science_political science _set 1_english_q32
2[Option ID=37626]
3[Option ID=37627]
4[Option ID=37628]

Sl. No.33
QBID:12033

The “extended neighbourhood’ has become conceptual umbrella for Indian foreign policy. Which of the option given below does not come
under purview of India’s ‘extended neighbourhood’?

1. Suez Canal
2. South China Sea
3. Eastern Africa
4, The Asia Pacific
(1) 1
2) 2
3) 3
4) 4
-~ [ =, e 3 A e e -y = 3
TAEATRG 918 (THACrEe Asige) WA [A57 I 1 SATGRIMCHT A (F-A-GUA A1) 54 T4 2|

e ™

Hre fzu mu fawedi | @ A FweT 9d * [EEdaiid 92 o+ FE-49 % SAad T8 A a v

4. ST gema a3 (ufirEn Afafees)
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37629] Question Description : political_science_political science _set 1_english_q33

2[Option ID=37630]
3[Option ID=37631]
4[Option ID=37632]

Sl. No.34
QBID:12034

The foreign minister of India. S. Jaishankar has summerised India’s approach to multilateral action as anchored in five *S’s. Choose the
wrong option

. Samman (Respect)

. Samanjasya (Harmony)
. Samvad (Dialogue)

. Samriddi (Prosperity)

e o b

1) 1

) 2

3) 3

(4) 4

ard % faew ool a.sEwE 1 aEefE FwAE % AR § 9Rd F U H O CwE (s) | w9 H w2l

Tad AEed #i W\

1. T
2. g
3. {94
4. mqfg

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37633] Question Description : political_science_political science _set 1_english_q34
2[Option ID=37634]

3[Option ID=37635]
4[Option ID=37636]

Sl. No.35
QBID:12035



In which conference the decision to set up World Bank was taken?

1. New York

2. Bretton Woods
3. Massacusetts
4. Paris

(1) 1

2) 2

(3) 3

(4) 4

feAfafiaa 5 @ foa owaq | fya | & w1 =1 HoE fomn mmr a7

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=37637] Question Description : political_science_political science _set 1_english_q35
2[Option ID=37638]

3[Option ID=37639]
4[Option ID=37640]

Sl. No.36
QBID:12036

In which year was the United Nations set up?

. 1944
. 1945
. 1948
. 1950
1) 1
(2) 2
(3) 3

| S

da Lo

. 1944
. 1945
. 1946
. 1950
(1) 1
2) 2
3) 3
(4) 4
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1[Option ID=37641] Question Description : political_science_political science _set 1_english_q36
2[Option ID=37642]
3[Option ID=37643]
4[Option ID=37644]

Sl. No.37
QBID:12037

Who coined the term ‘containment’?

1. George Kennan
2. Alfred Sauvy
3. George Marshal
4, Tohn Marshal
(1) 1
(2) 2
(3) 3
(4) 4
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1) 1

) 2

3) 3
(4) 4
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1[Option ID=37645] Question Description : political_science_political science _set 1_english_q37
2[Option ID=37646]
3[Option ID=37647]
4[Option ID=37648]

Sl. No.38
QBID:12038

Who categorized India as “a responsible state with advanced nuclear technology™?

1. President George W. Bush
2. President Bill Clinton
3. President Jimmy Carter
4. President Barrack Obama
(1) 1
(2) 2
(3) 3
(4) 4
ol

frafafaa 5 @ forae wra #1139 o] NefThl a7 UF STRERl U5F & B9 8§ i {6 97

- r
L. -{lgq El EIE| \:'&f'q:\- ‘q_“?.'l
2. T4l Telcd ENES
3. 189 q ot Frct
4. TgYTd S AT
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37649] Question Description : political_science_political science _set 1_english_q38
2[Option ID=37650]

3[Option ID=37651]
4[Option ID=37652]

Sl. No.39
QBID:12039

Which of the following statements are true in Ecological Approach?

A. The term 'ecology’ has Greek roots.

B. Ernst Haeckel coined the term "ecology'.

C. Andrew Dobson makes a distinction between environmentalism and ecologism.
D. Green ideology debate is a 16th century debate.

Choose the most appropriate answer from the options given below :

. (A). (B). (C) only
. (B). (C) only
.(C). (D) only

. (A). (D) only

1) 1

) 2

3) 3

4) 4

b =

e o




fefafaa § 9 #9-3 F9F TifefahE siesm o a8 87

A, Tififeafaehi ez At 5o 1 2|
B. iffeafa ez i o= 2kt 7 wfawfza o=

C.Uvgq EisA A FAEET uF qifeafahian & qe fHn fea)
[a}

D. afta faamam am-faar 16 & ward |4 sga an-faar 21

= fru o el § & ged S S = A

1. %A (A), (B). (C)
%A (B), (C)
3. %A (C), (D)
4. %A (A), (D)

(1) 1
(2) 2
3) 3
(4) 4

]

1[Option ID=37653] Question Description : political_science_political science _set 1_english_q39
2[Option ID=37654]
3[Option ID=37655]
4[Option ID=37656]
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Who among the following believes that the superstructure is relatively autonomous?

A, Louis Althusser
B. Gramsci

C. Poulantazs

D. Mao Zedang

Choose the correct answer from the options given below :

1. (A) and (B) only
2.(C) and (A) only
3. (B). (C) and (D) only
4. (B) only

1) 1

2) 2

3) 3

(4) 4

P & s e Fream () & i siiieemn (qregrmn) arificd =9 & e aid 27

A, T3 AT
B. TR
C. Tielr=sf

D. 131 S=m

di9 f2u U fawedt § O 9E I w0 mge il

1
2. %A (C) AT (A)
3. %4 (B). (C) 3 (D)
4. %A (B)

1) 1

2) 2

3) 3
(4) 4

AT (A) 1 (B)
(
(
(

1[Option ID=37657] Question Description : political_science_political science _set 1_english_q40
2[Option ID=37658]



3[Option ID=37659]
4[Option ID=37660]
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Which of the following statements are correct in terms of Machiavelli’s ‘The Prince’?

A. The book has been written with democratic spirit.
B. Dual morality has been established in this book.
C. The book is famous for anti secular approach.

D. The book has supported a citizen army.

Choose the most appropriate answer from the options given below :

1. (B) and (D) only
2. (A)and (C) only
3.(C) and (D) only
4. (B) and (C) only

(1) 1

2) 2

(3) 3

(4) 4

Afraraet =1 Fas 7 @ & gad |5 fefafaa 5 ° w9-a1 99 T8 27

A. TE JET%F AlHdalaE qEA & arg fadt w2 2|
B. 30 T% H fg-Afasar & onfua faan man 2|
C. 78 g A gei-aear fat fesion (samm) & fau ofag 21
D. 98 J&d% U AR ST & 9 H a1 Fdl 2l

= fau o fasedl # @ A9y S9gE TR H1 99 i

FAd (B) IR (D)

aﬂ?—r (A) 3T (0)

3. %A (C) 3R (D)

4.%ad (B) ¥ (C)
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=37661] Question Description : political_science_political science _set 1_english_q41

2[Option ID=37662]

3[Option ID=37663]
4[Option ID=37664]
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Which of the following sentences are correct in regards to John Locke?

A. He subscribes empiricism

B. He has written "Essay Concerning Human Understanding'.
C. He believes in limited state.

D. He is the propounder of popular sovereingty.

Choose the most appropriate answer from the options given below :

1. (A), (B), (C) only
2.(C), (D) only
3. (A), (D) only
4. (B), (C) only
1) 1
) 2
(3) 3
4) 4
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C

D
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5 e e e 3

= fau o fasedl § @ A98 S9EE ST 1 59 I

o]

F4d (A), (D)
F4ad (B), (C)

1. FAd (A). (B). (C)
.%Ad (C), (D)
LA (

LA

W

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37665] Question Description : political_science_political science _set 1_english_q42
2[Option ID=37666]

3[Option ID=37667]
4[Option ID=37668]
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Which of the following are correct in reference to Tagore’s Philosophy?

A. Tagore was an exponent of ‘true freedom’.

B. Tagore appeared to be a seeker of eternal truth.

C. Tagore supported creative unity amongst diversity.
D. Tagore supported aggressive nationalism.

Choose the most appropriate answer from the options given below :

1. (A). (B). (C) only
2. (A). (B). (D) only
3.(B). (C). (D) only
4. (A). (C). (B). (D)

1) 1

(2) 2

@3) 3

(4) 4

IR % 774 % T4 A (FAfafad 5 8 Fi9-8 @8 27

MR g=i S aAar & graaes 491

R INYAT G % FANE Sa9F 9

IR T TAfear 5 gorTeT®: TR Fi diedtad |
IR A SAHEEF TgATE F qH9 A

o B o N v v o

= T U el § O A9y S IO 1 5E I

1. %A (A), (B). (C)
. %A (A), (B). (D)
3.%4ad (B). (C). (D)
4.(A).(C). (B). (D)

1) 1
(2) 2
(3) 3
(4) 4

o]

1[Option ID=37669] Question Description : political_science_political science _set 1_english_q43
2[Option ID=37670]



3[Option ID=37671]
4[Option ID=37672]
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What is the purpose of Danda Niti according to Kautilya?

A. Acquisition of unacquired

B. Preservation of the acquired

C. Maintenance of law and order within the state
D. Augmentation of the preserved

E. Fair distribution of the augmented

Choose the most appropriate answer from the options given below :

1. (A). (B). (C). (D) only
2. (B). (C). (D). (E) only
3. (A). (C). (D). (E) only
4. (A). (B). (D). (E) only
(1) 1
) 2
(3) 3
(4) 4
[a¥ o

FATeed & ATAR ZUEHId & I29d HH-U 87

A. AT 1 SARTET

B. ARG &1 T

C. T4 & | A UF A5€1 H Tae FAl
D

E

TfeAd 1 gEdA

H—q’f\ﬂﬁﬁﬁ[ 3 %IEI ﬁ[aﬂlﬁl

= f5u U fasedl § @ 998 S9® ST 1 99 i

—_

.F4d (A), (B). (C). (D)
.FAd (B). (C). (D). (E)
. %A (A), (C), (D), (E)
%A (A), (B), (D), (E)

| S

3
4
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37673] Question Description : political_science_political science _set 1_english_q44
2[Option ID=37674]

3[Option ID=37675]
4[Option ID=37676]
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Which of the following are functions of a political system?

A. Political Socialisation
B. Political Decay

C. Political Recruitment
D. Political Revolutions

Choose the most appropriate answer from the options given below :

1. (A) and (B) only
2. (B) and (C) only
3. (A) and (C) only
4. (B) and (D) only

(1) 1

(2) 2

3) 3

(4) 4
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C. USHITas |l

nes “psi
D. TSI SRl

= fau o fasedl § @ A98 S9EE ST 1 59 I

Fad (A) ST (B)
ﬁaa (B) 3 (C)
3, ﬁaa (A) F ()
A (B) R (D)
(1) 1
2) 2
3) 3
4) 4
1[Option ID=37677] Question Description : political_science_political science _set 1_english_q45
2[Option ID=37678]

3[Option ID=37679]
4[Option ID=37680]
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Which of the below mentioned factors lead to revolution in a political system?

A. Severe class divisions

B. Role of intellectuals in mass mobilisation
C. Social disequilibrium

D. Strong desire for peace

E. Incremental changes

Choose the most appropriate answer from the options given below :

1. (A), {B)and(E)only
2.(B),(C) and (D) only
3.(A), (B) and (C) only
4.(A), (B), (C), (D) and (E)
1) 1
2 2
(3) 3
@) 4
ffefad § & $I90 FF TIHIqF =F€IT § Hiqai 1 J01 J9Ed Fd 8¢
A. diF = faarem

B. ST I UHSE FA H Jloil1adl 1 e

C. g SAFqH
D. 7nfd =l dim 5o
E. 3if¥afs afads

= f5u o el § @ 98 S9EE ST 1 99 i

1. %A (A), (B) 3R (E)
2. %Ad (B), (C) S (D)
3.%4ad (A), (B) 31 (C)
4.(A). (B). (C). (D) 3N (E)

1) 1




(2) 2

(3) 3

4) 4

1[Option ID=37681] Question Description : political_science_political science _set 1_english_q46
2[Option ID=37682]

3[Option ID=37683]
4[Option ID=37684]
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Which of the following statements is/are correct regarding the powers of Speaker of Lok Sabha?

A. The Anti Defection Law is applicable on the Speaker in case he decides to quit his own party.
B. The Speaker can not preside while a resolution for his removal from office is under consideration.
C. Speaker can vote in the house on any matters of his removal from the office.

Choose the correct answer from the options given below :

.(A), (B)and (C)
.(B) and (C) only
. (A) and (C) only
. (A) and (B) only
1) 1
2) 2
(3) 3
4) 4

freafafaa 9 =9 O w99 % 991 & 159 i afFA & I8 5 a8 2/87

W I =

=

A. ZA-aEd Tl F WiaR W A7 a1l F Bigd &1 feufa § i stuarsa gan 21
B. 5o TGl 38%F U7 U 521U A &1 TEATE [Sanrei= 8 af 58 AFeqdr "8l +ar 21
C. TdhR % U7 U e A & [l Wi 4 § 9% 979 § Ha7d # gl 2l

Ji9 77U U fAeedl § 8 9E I 0 9Ee il

1. (A), (B) & (C)

2. %Ad (B) AN (C)
3. %Ad (A) 3T (C)
4.%Ad (A) 31 (B)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37685] Question Description : political_science_political science _set 1_english_q47
2[Option ID=37686]

3[Option ID=37687]
4[Option ID=37688]
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Which of the following statements are correct regarding preamble of the Indian Constitution?

A. In the Berubari Case, Supreme Court said that the preamble is not part of the Constitution.
B. In the Keshavananda Bharati case, the Supreme Court said that preamble is the part of the Constitution.
C.InL.IC. of India Case, Supreme Court said that preamble is not part of the Constitution.

Choose the correct answer from the options given below :

.(A).(B)and (C)
.(B) and (C) only
.(A) and (B) only
. (A) and (C) only
1) 1
) 2
3) 3

S

I



(4) 4

qrdig dfaaE & 2 & gz 4 fsfafaa d @ 9 9 $973 98 27

A. S%ET HHA H I=GH AEad A Wz 6 sEiRe @t w0 | a8 o2l

B. FIAM ARl HHA H =9 ~AETAd A A 291 (6 S2eeR 94 1 UF 491 2

C. uIdig Siad siar e (ver o3 o) s |3 s=a e | g sz afaam w5 oam
&l 2l

Ji9 fZu U fAeedt 5§ 9 I 0 =g i

1. (A), (B) & (C)
2. %A (B) 1 (C)

3. %Ad (A) 3T (B)
4. FAd (A) T (C)
(1) 1
2) 2
3) 3
4) 4
1[Option ID=37689] Question Description : political_science_political science _set 1_english_q48

2[Option ID=37690]
3[Option ID=37691]
4[Option ID=37692]
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Which of the following are strengths of Globalization?

A. Promotes free trade of goods and services among the nations.

B. Strengthens the market economies of the developing world.

C. Promotes socio-economic interactions between the countries.

D. Increases economic disparities between rich and poor.

E. It does not promote human and cultural interaction between the nations.

Choose the most appropriate answer from the options given below :

(A), (B) and (C) only
(B), (C) and (D) only
.(©), (D) and (E) only
(A), (D) and (E) only

1.
2.
3

A
)1
) 2
(3) 3
4) 4

AvATRT i fFfatEd § & Jeedl 95H Fid 8 ¢

A. TG F o FEqSA wa TATet & Y AT I AFET LA 2l
B. el fawa 1 a9 stdsaaensti & g9 fHadt 2
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1. %A (A). (B) 3K (C)
%?m?—r(B (C) ¥ (D)
FAA (C). (D) SR (E)

Fad (A). (D) J (E)



(1) 1

(2) 2

(3) 3

4) 4
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2[Option ID=37694]

3[Option ID=37695]
4[Option ID=37696]
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According to the article 26 of the constitution of India, every religious denomiation shall have the right :

A. to establish and maintain institutions for religious and charitable purpose.
B. to manage its own affairs in matters of religion.

C. to own and acquire movable property.

D. to manage social affairs.

E. to own and acquire immovable property.

Choose the most appropriate answer from the options given below :

1. (A). (B). (C). (D) only
2. (B). (C). (D). (E) only
3. (A). (B). (C). (E) only
4.(A). (C). (D). (E) only

(11

) 2

3) 3

(a) 4

ARA % UAGHE % =97 26 % AR YcdF dIHE U9 % U 59 A1 H AE 2 -

A, €1f9% A qd (|RTd) 3379 8q GENAT il T FAT U7 ITH 2@Ere F
B. 04 °H * fawai o gafad st & gad w1

C. Tl HUM &l &AMHeT UA 38 AfSd 1

D. AT qHal (FET) i Tad wAT

E. ST/l |9 &l SA1HcT UF 38 SAtSd ]

= f5u U fasedl § @ 998 S9® ST 1 99 i

1. %A (A). (B). (C). (D)
2. %Ad (B). (C). (D). (E)
3. %A (A), (B), (C), (E)
4.%Ad (A), (C). (D), (E)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37697] Question Description : political_science_political science _set 1_english_q50
2[Option ID=37698]

3[Option ID=37699]
4[Option ID=37700]

Sl. No.51
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Which of the following is correct regarding the classical theory of administration?

A. It played a notable role in rationalizing and even stimulating production.
B. It formulated a set of concepts in administration.
C. It was the first to propound the idea that administration is a separate activity.

Choose the most appropriate answer from the options given below :

. (A) and (B) only
.(B) and (C) only
.(A) and (C) only
.(A), (B) and (C)

S

I




1) 1
(2) 2
(3) 3
(4) 4

JIEA % FATdEd (TE) g F an | FEfataa g  #9 ag 8v

A. 38 fodsoeh ud a8l 9% fF scared eifasis § sam 24 ava gfiw w1 e e 21
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= f5u U fasedl § O 99 S9EE TR 1 999 HIa

1. F4d (A) #T (B)
2. %Ad (B) AN (C)
3. %4 (A) AT (C)
4.(A). (B) F (C)

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37701] Question Description : political_science_political science _set 1_english_q51
2[Option ID=37702]

3[Option ID=37703]
4[Option ID=37704]
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QBID:12052

According to Ferral Heady, the comparative public administration addresses which of the following concerns?

A. The search of theory

B. The urge of practical application

C. Contribution to the border field of comparative politics

D. The comparative analysis of ongoing problems of Public Administration

Choose the most appropriate answer from the options given below :

A), (B)., (C) and (D)
A), (B) and (C) only
B). (C) and (D) only
A), (C) and (D) only

1.
2
3.

S o e i o g

4,
1 1
2) 2
3) 3
4) 4

I 231 % STHAR, AT dlsh J9aH AefafEd 9 9 5 g5 ° getad 2 ¢
A. fagma & @l

B. SAFEINE SAIEN F AWE|
C. qeATeH® ToHITd & M1 49 1 a0
D. &ish YT # A aeeamEt 1 qaicds e o|

= fzu o fasedl # @ G99 S9E ST H1 99 I

1. (A). (B). (C) 31 (D)

2. %49 (A), (B) 31 (C)
3. %A (B), (C) 311 (D)
4. %A (A), (C) 3R (D)

1) 1




(2) 2

(3) 3

4) 4

1[Option ID=37705] Question Description : political_science_political science _set 1_english_q52
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3[Option ID=37707]
4[Option ID=37708]
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Which is/are not true about Public Interest Litigation (PIL)?

A. Only registered Civil Society Organisation can file a PIL.
B. PIL can be filed in Supreme Court, under Article 32.

C. PIL can be filed in High Courts under Article 226.

D. There is no court fees for filing PIL.

Choose the most appropriate answer from the options given below :

.(B) and (C) only
. (A) only

. (D) only

. (A) and (D) only
11

() 2

(3) 3

(4) 4

feifa 5 & St anfea (0 o118 ud) & 91 | FI9 91/3 w99 98 T8 2/87

R

A. 5 dd Usiihd ANTRS YIS TiTeH Ul 315 Ud 21fad (W15 & dhal 2|
B. 4l 311 Ud, 31T372 32 & Said s=Iad A 8 A1fEd S Yl 2l
¢

D

T8 U, ST 226 & S I <AAAd H AEA DI Yl 2l
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1[Option ID=37709] Question Description : political_science_political science _set 1_english_q53
2[Option ID=37710]
3[Option ID=37711]
4[Option ID=37712]
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Which of the following is/are true about amendment of RTT Act in 20197

A. From a fixed term of five years. now the Commissioner holds office at the pleasure of Government.
B. Now. there can be more than 10 Central Information Commissioners.

C. Now. the salaries and allowances of Commissioner are also decided by the Government.

D. Now, the age of retirement of Chief Information Commissioner will be 62 years.

Choose the correct answer from the options given below :

1. (C) only
2. (A) and (B) only
3. (A) and (C) only
4. (A) and (D) only
1) 1
(2) 2




3) 3
(4) 4

AY 2019 H ARIAT: AI-=H | T 70 guigs = 91 | F=ldfad 5 9 =1 981 27
A drE Ay #I ffrea s@ta @ o9 A F 97 SRR B 5O /H W HE we
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D. S HA oA AFE H FA-ANT 5 A9 62 AN &

Hi= f2u U el | © gEl 3T @ =EA i

A (C)
a-?l?l (A) 3T (B)
3. %laa (A) 3T (C)
FAd (A) AT (D)
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=37713] Question Description : political_science_political science _set 1_english_q54
2[Option ID=37714]

3[Option ID=37715]
4[Option ID=37716]
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What are the core values of Indian Foreign Policy?

A. Blend of idealism and realism

B. Value of Tolerance

C. Anti-imperialism and anti-colonialism
D. Territorial Expansion

E. Neighbourhood First Diplomacy

Choose the correct answer from the options given below :

1. (A), {B) (C ) only
2.4 ) (B). (D) only
3.(B (C) (D) only
4.(A). (B), (D). (E) only
1) 1
2) 2
(3) 3

(4) 4
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B. GiGWIdl %1 {4
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1. %ad (A), (B), (C)

2. %Ad (A), (B). (D)

3. %Ad (B), (C). (D)

4. %A (A). (B), (D). (E)
11
) 2

3) 3
(4) 4
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2[Option ID=37718]
3[Option ID=37719]
4[Option ID=37720]
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Which of the following are not the features of Cold War?

A. There was nuclear arms race.

B. There was a propaganda war.

C. There was economic blockade against the non-aligned countries.
D. The third world countries were directly involved in it.

Choose the correct answer from the options given below :

1. (A) and (B) only
2.(B) and (C) only
3.(C) and (D) only
4. (B) and (D) only

1) 1

2) 2

(3) 3

4) 4

fafafaa & @ =gt sita gg A oo 42 87

A. Y] EfERl i Bl o

B. WI¥TIel 45 41|

.72 fuea zan & fawg onfds ArwEm i
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FAd (A) ST (B)
aﬂa (B) I (C)
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1) 1
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3) 3
(4) 4

1[Option ID=37721] Question Description : political_science_political science _set 1_english_q56
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3[Option ID=37723]
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Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as Reason (R).

Agsertion (A):  Ewer since the end of World War II. international environment has been dominated by the American relations with the
Soviet Union characterized as Cold War.

Reason (R): The Cold War coloured not only American and American aligned nations’ relations with the Soviet Union and the latter’s
allies but relations of the U.S. and its allies with other non-aligned nations. as well.

In the light of the above statements, choose the correct answer from the options given below :

. Both (A) and (R) are true and (R) is the correct explanation of (A)

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
. (A) is true but (R) is false

. (A) is false but (R) is true

1) 1

2) 2

(3) 3

(4) 4

S 71 oA fau o # 2 o afqsaa (Assertion (A)) %Wﬁ%@ﬁ%ﬁﬁ@@%ﬂﬂ(Reason (R))
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fo-agl, afew s e s 29 & g st i sos ol & daal 1 a-iaa )

ST 94 & ATF |, 4" 70 70 fFFea § O g8 s & wEe it

b =

S

1. (A) 30T (R) 21 @ca & & (R), (A) i @& =awe 8
2. (A) & (R) 2T @cd g, dfe (R), (A) i a&l =g =8 2
3.(A) @A 2, dfdd (R) e3@ca 8
4. (A) o7aca 2, dfFA (R) Tcd 2
1) 1
) 2
3) 3
4) 4
1[Option ID=37725] Question Description : political_science_political science _set 1_english_q57
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Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as Reason (R).
Assertion (A) :  In our time, history is that which transforms documents in to monuments.

Reason (R): The archaeology of knowledge discovers the intrinsie description of the monuments.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
a1
(2) 2
(3) 3
(4) 4



-

Bl i‘sf EL] %U ma ? : Uch ATqFIH (Asser’rion (A)) %+ ®9 H fdfad % Sl SR 3T ] (Reason {R)) +
®TY

AfgEad (A) :  #91 O9F H, sfas@ 48 2 I fF Z&aEsl & SR § S w2l

FT (R) : A 1 A~ FHH & AdHd AUH () F @i w2 2|

I FIF & AR |, 19 70 10 fFFedi § O ge8 S9gE I H 999 Hifau

—_

.(A) 1 (R) a1 @8 & &R (R), (A) F @8 =wE 2

() ¥R (R) 2F1 @& &, afA (R), (A) I @& = 7@ 2
(A) @& 2, dfa (R) @dl 78 2

(A) @@ 7 2, df#A (R) Tl 2

1 1
2) 2
3) 3
4) 4

-2

W
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Asgertion (A):  Inner contradictions of capitalism will destroy capitalism.

Reason (R) : Exploitation of surplus value is the biggest contradiction of capitalism.

In the light of the above statements. choose the correct answer from the options given below :

1. Both (A) and (R) are true and (R) 18 the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) is true but (R) 1s false
4. (A) 1s false but (R) s true
1) 1
(2) 2
(3) 3
(4) 4

el 73! L] %U ma ? : Ush ATHFIH (Asser’rion {A)) & ®9 4 {dfad % qr SR 3EH A (Reason {R)) +
®H :

AgFIA (A) :  ISAR % AR ™, I5Es F gE # oA

%107 (R) : AN Jod H1 AT (FA1EA) THa17 F gad q21 A 21

SYUT H99 & ATAE °9, A9 20 U Feed 5 9 @8 s il wEq Fifeu

1. (A) &R (R) ANl G @ A1 (R), (A) FI H&l =0z 2
2. (A) @i (R) 3F1 HAE, ©l%A (R), (A) FI &l =Awzan 7@ 2
3.(A) 942, | (R) Tad 8
4.(A) TAd 8, A (R) 9T 2
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=37733] Question Description : political_science_political science _set 1_english_q59

2[Option ID=37734]
3[Option ID=37735]
4[Option ID=37736]

Sl. No.60
QBID:12060



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Economically, the framework of the ‘Sarvodaya’ order would seek to establish a balanced and
equitable economic setup in the country.

Reason (R): JI.P(Jai Prakash) was sure to afford the first place to agricultural activities in the economic life of

the people.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
11
() 2
(3) 3
4) 4

Bl i‘sf EOn ] ﬁ'U ma % : Ush ATHFIH (Asser’rion (A)) &+ ®9 H fdfad % i A IHF HAI] (Reason {R)) +
®H :

AFIA (A) © IR B9 A, TART FFE F ®RE 39 H T Tqfad Ud A A 5891
TSI A =l TFcT Hl|

F (R) : @ gHE (S.R.) RN AR AT § FHTa AT i T9H T J5H HA
rEd 91

IHIT FI7 + ATl |, A 75U 70 fFFedi § 9 g98 S9gE I H 9899 HIa

[a—

(A) # (R) 21 F& & S (R). (A) F g& A= 2

(A) ¥R (R) ZF1 @& &, A (R), (A) I @8 ==men 7@ 2
(A) @@ 2, afFA (R) @dt =8 2

(A) T&t 7E 2, dfFA (R) T8 2

1 1
2 2
3) 3
4) 4

o8]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) :  Political culture is a set of beliefs and sentiments about politics as embodied in the verbal and non-verbal behaviour of
the people.

Reason(R): The typological and morphological models of political culture denote that there can be as many political cultures as the
dynamics of political development in political systems.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
. (A) is correct but (R) is not correct

. (A) is not correct but (R) is correct

b =

RE

1) 1
2) 2
3) 3
4) 4



-

Bl i‘sf EL] %U ma ? : Uch ATqFIH (Asser’rion (A)) %+ ®9 H fdfad % Sl SR 3T ] (Reason {R)) +
w9 H

AqFo (A) :  TSHITGR GEHA, TIAT & T- § [FAET AR AT F 0F =4 2, 397 6 ar
Hiflgs S AHIRgS =g9sr § giefad 2l

FIT (R) : TSI TEF o TATHICHF AN SICHE TTaAM (Aied) 59 a1 % =qF & (6 Ia-1 &l
TSI Sl & Tl &, foaet i asitfas sonfaai § asHifas e i afaefiad

I FIF F ATATE |, 19 70 10 fFedi § O ga8 S9gE I H 999 HIfau

- (A) & (R) 21 @& & & (R), (A) A wé =me 2

(a) sl (=) 2w &, ARet (), () B ) v Tl &
() @ 8, A () @ 7 &
()R, S () e 2

1) 1
(2) 2
3) 3
4) 4

[
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oW
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Agsertion (A):  Robert Dahl has suggested for cross cultural studies in Public Administration.

Reason (R) : He believed that the Public Administration can escape the effects of political. cultural and environmental system in which it
develops.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) is not correct but (R) is correct

o =

1) 1
(2) 2
(3) 3
4) 4

i F‘?I EXE %U m ? : U ATHFIH (Asser’rion (A)) + =9 4 faf@qd % qi LY 3HF FHE] (Reason {R)) +
®qH

A (A) :  THE 28 A dlh YA H Sed: HiEHaH A H1 g = 2

F1T (R) : ST AT 8 TR e 9 TUSHITaeE, TERaE UE TEEid oI g, oo
7z fafag aiar 2, so@ 779 g% 2|

I HIA =+ AT o, = 75U 70w § g9y S9E IO 6 98T S

.(A) T (R) ZFT @& & 3 (R), (A) F1 el =awem 2

(a) S (R) A A B, 3 (R), (a) T s A 2
(A) 52 2, afd (R) T8 81 2
(A) @@l 781 3, @f#A (R) T8l 2

(1) 1
(2) 2
3) 3
(4) 4

—_

S

R E V]
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Given below are two statements :

Statement (I) :  Rights essentially belong to the sphere of conflicting claims between individual and the state.

Statement (II) :  Any political theory which holds that an individual cannot have certain rights ‘against the state’ is no theory of rights.
In the light of the above statements. choose the correct answer from the options given below :

Both Statement (I) and Statement (II) are true
Both Statement (I) and Statement (II) are false
3. Statement (I) is true but Statement (II) is false
4, Statement (I) is false but Statement (II) is true

1) 1
(2) 2
3) 3
(4) 4

9 2 %uH 7

F7 (1) : AlTHR A B9 & =AU T+ 959 TER-H] 29 gedl a7 g gearad s 2l
%97 (1) : i3 i ToHITaE g, AFR #1 g1 99 9% T80 8 gl 2 " 9% (6 saH Uvd
+ fawg =atwal =i 5 stfusr 7 fZ o &

SYUTH HI9 & AT H, A9 70 U Feew § 9 @8 s il wEd Fifeu

bd =

1. %94 (1) 3117 (1) 21 o 2

)

2. %9 (1) &A1 (11) ZHT 30T 8

3. %A (1) Tcd 2, A w99 (1) 38T 8

4.9 (1) o7acT B, R F9H (1) T 2
(1) 1
2) 2
3) 3
4) 4
1[Option ID=37749] Question Description : political_science_political science _set 1_english_q63
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Given below are two statements :

Statement (I) :  Problems of global environmental change could not have existed without modern technologies and population densities.
Statement (II) :  Problems of climate change are difficult to address. because they involve both intra and inter-generational collective
action problems.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement (I) and Statement (II) are true
2. Both Statement (I) and Statement (II) are false
Statement (I) is true but Statement (II) is falge
Statement (1) is false but Statement (II) is true

Lo

1 1
(2) 2
3) 3
4) 4

A=l A1 F9A AU T E

F94 (1) : meﬁwmﬁ%mﬁﬁ%ﬁ@ G G & o
F9 (11) : sm:ug qiAdH =l G S GHIGH ] e 2 FiF 38H Sl UA S-dEnTd
241 TR i adEfes R 79 aeean i i 2l

YU 9 & ATAF |, ™ 7u 1u fAwea § o g8 s @ wEe it

1. %94 (1) &1 (1) 2F1 ac 2
2. %9 (1) AR (11) ZHT SFacd 8
)
)

3. %94 (1) acg 2, dfthd w94 (1) 8T 2
4. %94 (1) s1@cd 8, dAferd %97 (1I) T 2

1) 1




(2) 2

(3) 3

4) 4
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Given below are two statements :

Statement (I) : Nehru favoured a socialistic pattern of society.

Statement (II) : Nehru's commitment to civil liberties prevented him from aceepting the idea of ‘dictatorship of the proletariat’.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement (I) and Statement (II) are true
2. Both Statement (I) and Statement (II) are false
3. Statement (I) is true but Statement (IT) is false
4. Statement (I) is false but Statement (II) 1s true

(1) 1
2) 2
3) 3
(4) 4

9 21 FuH 7o g

w94 (1) : 487 o HIS & GETSETE] ST i aE9E |

F94 () :  He% sl A0S SFaA & 9fd Tasigal 4 378 AR it A’ & faar = i
FH G |

SYUT H99 & ATAE °, A9 20 U Feed 5 9 @8 39 il wEq Fifeu

1. %A (1) 91 (11) 30 e 8
2. FA (1) &1 (I1) 3T 70 &
3. %[ (1) Tcd 2, dAfeha 99 (1) acT 8
4. %94 (1) s 8, dfehd w99 (1) TF 2
(1) 1
2) 2
3) 3
4) 4
1[Option ID=37757] Question Description : political_science_political science _set 1_english_q65
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Given below are two statements :

Statement (I) : Party system provides normal means of fighting political battles.

Statement (II) :  One of the aims of the party system is to replace the traditional elites with new elites.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement (I) and Statement (II) are correct
2. Both Statement (I) and Statement (II) are incorrect
3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) 18 incorrect but Statement (II) iz correct
1) 1
(2) 2
(3) 3
(4) 4



A 71 e fau o €

FE (1) 1 Ay Yonferar e dgisa dgd % ATanol @red YA Fdl 2|
Fo (1) : =g quIell ®1 U 3298 URWRS AMYSa a1 &l 90 safasta s o gfaesanita &= 2|

I FIF F AR H, 9 73U 10 fFFedi § O gg I # we fifae

[y

A (1) AR (1) A ad g

)
2. %A (1) &R (1) 2t Tad 8
3. %7 (1) @& 2, i F99 (1) Tad &
4. %94 (1) TAd 2, ofsh &9 (1) a8t 2
1) 1
2) 2
3) 3
(4) 4
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Given below are two statements :

Statement (I) :  Exit poll is a post-election poll which is conducted when an elector walks out after casting his/her vote.
Statement (II) :  Opinion poll. is a kind of research survey which is conducted to find out the public opinion after elections.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement (I) and Statement (II) are true
2. Both Statement (I) and Statement (II) are false
3. Statement (I) is true but Statement (II) is false
4. Statement (I) is false but Statement (II) 1s true

(1) 1
(2) 2
3) 3
(4) 4

J9 2 FyH 7

Fo9 (1) : 4 AqagEE (ufFse 919) 993 &7 @F J1an gagEE 2 S 99 gemiaa R smar 2
& HARTl AT HAAH A o 17 =1E A 2l

Fo (11) : Hq AT (SAMUEE dIe) 71 T30 1 98 TRE 2 o FAEl & 915 S=ET O
T aq dErtad A S 2l

SYUTH F99 & ATAE °, A9 72U U Fewed 5 9 @8 ST il wEd Fifeu

1. %94 (1) o1 (11) 31 aeF 8
2. FA (1) &1 (I1) 3T 30T 2
)
)

3. %94 (1) @cd 2, Al w9 (1) S8 2

4. %94 (I) 18cd 8, Al %97 (1I) T 2
1) 1
(2) 2
3) 3
4) 4
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Given below are two statements : Consider the following statements regarding the Vice President of India.

Statement (I) :  He serves for a five year term. But can continue to be in office, irrespective of the expiry of the term, until the successor
assumes office.

Statement (II) :  The constitution is silent on who performs the duties of the Vice-President. when a vacancy occurs in the office before
expiry of his term.

In the light of the above statements. choose the most appropriate answer from the options given below :

Both Statement (I) and Statement (II) are correct

. Both Statement (I) and Statement (II) are incorrect

3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) is incorrect but Statement (II) is correct

[

1) 1
(2) 2
3) 3
4) 4

e 21 yH f5u 0§ ;. 9RE o STguld & 974 H HEfaigd F9F ) e fife

FoE (1) : 92 9" aY $H S g6 A9 95 W a1 T5d1 2 (ohd TETEr il TEIT % an 6 A
FEUMIFE & 92 TE R aF 98 AT 92 9 AH1 E Tkl 2|

w9 (1) : A 59 a1 7 =24 2 T swrgafa F wmmEta @9m g $ yd afe 98 ug |l g S g
d1.39d =1iacal 1 e+ Fam?

I HIA F AT H, A 75U T fFEe § 1 a9y S0

IR 1 9= Fifag

1. (1) ST (1) A ad 8
2. %9 (1) 1 (I1) 7M1 7T &
)
)

3. %A (1) F&l 2, i F94 (1) Tad 2

4. %94 (1) Tad 2, Al 99 (1) T3 2
1
(2) 2
3) 3
(4) 4
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Given below are two statements :

Statement (I) : The policy agenda is the sum of all political demands that a number of individuals or groups have tried to get onto policy
agenda.

Statement (II) : The policy agenda is composed of the demands that policy makers have agreed to consider.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement (I) and Statement (II) are correct
2. Both Statement (I) and Statement (II) are incorrect
3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) is incorrect but Statement (I1) is correct
1) 1
(2) 2
(3) 3
(4) 4



49 21 #ud f7u o g

w94 (1) : Hifa (uifadt) usier (FEgeE) 3 @t aoHifas ST H A i @ o anm SA9ET agE
g Hifa (difadt) usier § @e S + foau g T m=@ g 2
FoH (11) : Hifd (vifere) usier (FEget) 9 A O °91 g 2 59w faem e aq Aifa-fmra
azHd & 2

I FIF F AR H, 419 70 10 FFedi § O gey S9gE I H 999 Hifae

1. %94 (1) &R (11) 20 @dt 8
2. %94 (1) @R (11) 3 Tad &
3. %99 (1) @&l 2, dfrd #99 (1) 7Tad 2
4. %9 (1) Tad 2, <ifed w94 (1) T8 8
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=37773] Question Description : political_science_political science _set 1_english_q69
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Given below are two statements :

Statement (I) :  Both IMF and IBRD have headquarters in Washington.

Statement (II) : India’s vote share in IMF is 10%.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement (I) and Statement (II) are correct
2. Both Statement (I) and Statement (II) are incorrect
3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) is incorrect but Statement (II) is correct
1) 1
(2) 2
(3) 3
(4) 4

A= a1 #9d f7u e #

FeH (1) HAT3.UH.UF, 3N 15 50 A S 2F1 * R AT H 2
F97 (1) : WA 1 AB.U9.0%. H qq-{a=41 10 yfawe 2|

IHIT HI & ATl |, A 75U 70 fAFedl 5§ 9 ge8 S9gE IO H 989 Hiae

1. %A (1) 91 (11) 31 T8t 8
2. %A (1) &1 (I1) 3F Tad 8
3. %99 (1) @8l 2, Afrd 9 (1) TTera 2
4. %A (1) Tad 2, Al ®9F (1) T8 2
11
) 2

3) 3
(4) 4
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Match List I with List II

LISTI LISTII
Books Authors
A_ |Between Past and Future I. [[saiah Berlin
B. [Vico and Herder : Two studies in the history of ideas] II. [Hannah Arendt
C. |The voice of liberal learning II1. Michael J. Sandel
D. |The Tyranny of Merit IV. PMichael Oakeshott]

Choose the correct answer from the options given below:

L (A)-(I). (B)-I1). (C)-1II). (D)-(IV)
2. (A)=(ID), (B)-(I). (C)-(IV). (D)~(I1I)
3. (A)-(IV). (B)-(IIT). (C)-(11). (D)-(I)
4. (A)-(III). (B)-(II), (C)-(I). (D)-(IV)

(1) 1
(2) 2
3) 3
@) 4
HAT-1 = A9 A-11 F1 s Fife
i1 g-1
N EECER =R CR ST 1 [esteEn afdq
p_ [l Ug 82T : g T2di9 3 7 faedt i smsfedn| o [gam siire
c |7 AtsE AT faama @t . [TgeRa J. dved
p. [z Tt AT #fie v, [T AT

i f2u U famed 4 9 g s & === fifvu

1. (A)-(I). (B)-(II), (C)-(I1I), (D)-(IV)
2. (A)-(ID), (B)~(I). (C)-(IV), (D)-(III)
3. (A)-(IV)., (B)~(III), (C)-(II). (D)-(I)
4. (A)-(III), (B)~(II), (C)~(I), (D)-(IV)
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37781] Question Description : political_science_political science _set 1_english_q71
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Match List I with List IT

LISTI LISTII
Concepts Thinker
A [Virtue is knowledge I. Machiavelli
B. [Success is virtue II. [Plato
C. [Knowledge is power III. [Foucault
D. [Power is production of intended effects| IV. [Russell

Choose the correct answer from the options given below:

(A)-(IV), (B)-(IID), (C)~(I), (D)-(II)
(A)-(IT), (B)-(I), (C)- (III) (D)-(IV)
(A)-(IID), (B)-(II), (C)-(IV), (D)~(I)
(A)-(D), (B)-(ID), (C)- (III)._ (D)" (IV)

LFE I S

=

1) 1
2) 2
3) 3
4) 4



gefi-1 % @iy geil-n %1 e fifo

-1 e
= [ o~
HFUTOME Tk / TeldoH
A NHgU %Qf I ?I 8 C2 E il
B. [ACIdT & IO 2| I [ter
c.?ﬂ‘f%”[ ] \FF-\.%_I m_%?
D. [2IiF ?’T HAMHYT JHAT 1 3¢9 ad %‘1 v e

Hi= f7u U el | ° g8 3T 5 == I

L. (A)-(IV), (B)-(III). (C)-(I), (D)-(II)
2. (A)-(II), (B)-(I), (C)~(III), (D)-(IV)
3. (A)-(III), (B)-(IT), (C)-(IV), (D)-(I)
4. (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=37785] Question Description : political_science_political science _set 1_english_q72
2[Option ID=37786]
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Match List I with List IT

LISTI LISTII
Events Years
A |Surat split I |1927
B. |Quit India Movement I1. |1919-21
C. [Non-Cooperation Movemend III |1942
D. Mahad Satvagrah IV, |1907

Choose the correct answer from the options given below:

1. (A)-(0). (B)-(ID). (C)<(IID). (D)-(IV)
2. (A)(IV). (B)-(II). (C)-(II). (D))
3. (A)(ID). (B)-(D). (C)-(I). (D)(IV)
4. (A)(IV). (B)~(D). (C)-(III). (D)-{1I)

(1) 1

) 2

3) 3

(4) 4

qAT-1 = A9 -11 1 fFam Fife

Hqet-1 Fefi-u
¥eATu L]

A TS 1 (1927
I

Koo ™

B. [T =IST HAT4ldA| 1 [1919-21
=, =

C. [HYSANT HATATedd |1 1942

D. [HElg HcHUzE IV. [1907

= f7u o faet 5 @ wE e o 9ge fifsw

(A
(A
(A
(A
1 1

-(I). (B)-(II). (C)~(I1I). (D)-(IV)
-(IV). (B)-(III), (C)-~(II). (D)-(I)
-(I0), (B)-(D). (C)«(III). (D)-(IV)
«(IV), (B)~(I), (C)~(III), (D)-(II)

B
EREE



(2) 2

(3) 3

4) 4

1[Option ID=37789] Question Description : political_science_political science _set 1_english_q73
2[Option ID=37790]

3[Option ID=37791]
4[Option ID=37792]

Sl. No.74
QBID:12074

Match List I with List II

LISTI LISTII
Books Authors
A Politicgl c.haflg_e in L}rlclerdereloped ) I [David B A
countries : Nationalism and Communism
B. |Political Development I1. |S.N. Eisenstadt
C. |The Politics of Modernisation III|C.H. Dodd
D. |Tradition, Change and Modernity IV.John H. Kautsky

Choose the correct answer from the options given below:

L (A)IV). (B)-(1D). (O)-(1). (D)-11)
2. (A)-(IID). (B)-(D). (C)-(1D). (D)-(IV)
3. (A)-(D). (B)-(IV). (C)-(III). (D)-(II)
4. (A(IV). (B)-(IID). (O)-(D). D)D)

1) 1

2) 2

(3) 3

4) 4

gei-1 % "1 -1 1 A i

‘Q\?ﬁ—[ fi—m
qEdoh GECE]

— T~ =

qTTcATeshd 99 34
PN 3 L s e o 1 [gfAE 3. Ut

=, i~

ATHfasH U2 e

- N ~
B [Hifcifeshcl SacIuHE T

Rl

¢ [z OifdteFa 1% AledigeRE| m [Hi.ug. 2
SRR

b [¢fevH, @19 ug "ieHd v '

= f7u U faeT 8 @ 9E I 99w fifee

L. (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
2. (A)-(III), (B)-(I), (C)~(II), (D)-(IV)
3. (A)-(I). (B)-(IV). (C)~(ILI). (D)~(II)
4. (A)-(IV), (B)-(III). (C)-(I), (D)-(II)
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=37793] Question Description : political_science_political science _set 1_english_q74
2[Option ID=37794]

3[Option ID=37795]
4[Option ID=37796]

Sl. No.75
QBID:12075




Match List I with List II

LISTI LISTII
Schedule Descriptions
. [Fourth Schedule | I |Allocation of seats i1 Rajva Sabha
. |Tenth Schedule | II. |Provisions relating to defection
. |Seventh Schedule] ITI. [Division of powers between Centre and States|
. |Sixth Schedule | IV. JAdmunistration of tribal areas in some States

] [e] [+~] =

Choose the correct answer from the options given below:

L (A)=(I). (B)-(II). (C)-(IV). (D)-(I1T)
2. (A)-(D). (B)-(ID). (C)-(I1). (D)-(IV)
3. (A)-(IT). (B)-(I). (C)-(IV). (D)-(III)
4. (A)-(IT). (B)-(1). (C)-(I1I). (D)-(IV)

(1) 1

(2) 2

(3) 3

4) 4

HAT-1 = A9 A-11 F1 s Fife

-1 -
gt faaror

A [Aef s | 1 [o=a @ gq el #1 A

B. [FEAT S | 1 [fO1-95A T Hetad YA

c. [aTaat S| m. [FE UA T5F % 959 AFA] H S2AN
D. [BEl TG | v [T Al H§ A S F J9E

i f2u o faed 4 9 g 3o 5 === it

A)-(I), (B)-(II), (C)-(IV), (D)~(III)
A)-(I), (B)-(II). (C)-(III). {D} (IV)
A)-(II). (B)-(I). (C)-(IV). (D)-(III)
(A} (II), (B)~(I), (C)-(III), (D) (IV)

e oS

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=37797] Question Description : political_science_political science _set 1_english_q75
2[Option ID=37798]

3[Option ID=37799]
4[Option ID=37800]

Sl. No.76
QBID:12076

Match List I with List II

LISTI LISTII
[Regional Political Partieg Founder leaders
A DMK I |M.G. Ramachandran
B. JAIDME II. [N.T. Ramarao
C. |TDP III. |C.N. Annadurai
D. [PDP IV. [Mufti Mohammad Sayeed

Choose the correct answer from the options given below:

L. (A)-(D). (B)-(1D). (O)-(IID). (D)-1V)
2. (A)-IV). (B)-(D). (C)-(IID). (D)-(1)
3. (A)-). (B)-(1). (C)-(). (D)(IV)
4. (A)ID), (B)-D). (C)-IV). (D)~

(1) 1

(2) 2

(3) 3

4) 4



qefi-1 % @19 gei-1 &1 fFam fif

[ [ a

TT-1 TT-11
=t eI ge1|  EReTaeR AT
A [Blume L [OH.SH. TEERE
B. [TATSEITH n [04.3. TEEE
c. [CrETdY m [t oA, ST
p. [dETdt v [T HIERTE 857

Hi9 f2u 70 faedi | | 98 3O 0 9gE Fifau

(A)-(I), (B)-(IT), (C)-(III), (D)-(IV)
(A)-(IV). (B)-(I). (C)-(III), (D)-(IT)
(A)-(IID), (B)-(I), (C)-(II), (D)-(IV)
(A)-(ID), (B)-(I). (C)-(IV), (D)-(III)
(1) 1
2) 2
3) 3
4) 4

B

1[Option ID=37801] Question Description : political_science_political science _set 1_english_q76
2[Option ID=37802]
3[Option ID=37803]
4[Option ID=37804]

Sl. No.77
QBID:12077

Match List I with List II

LIST1I LISTII
Concept Thinker
A Distinction between obedience and 1 |5 Simon
acceptance
B Distinction between economic man I lchester Barnard

and administrative man

C Distinction ber\\'een.chansl"nnan_c L [Fw Tavier
leader and legal- rational authority z
Distinction between principles and IV IMax Weber

" |mechanics of management

Choose the correct answer from the options given below:

L (A)-(D). (B)-(IID). (O)-(11). (D)-(1V)
2. (A, (B)-(I). (C)-(IV). (D)-(T)
3. (A1), (B)-(1). (C)-1V). (D)-(I)
4. (A)-D. (B)-(I). (C)-(IV). (D))

(1) 1

(2) 2

(3) 3

(4) 4



qeft-1% @ gei-1 1 e if

Hk _aﬁi—l Eﬁ ah] =1l
FFYTOT oA
T . = = = =
A [HTHI-T1e UF SHwET & 959 7698 L [T, a159A
5. [T FIE | ORI AT UA SRIEEE 33 % 559 397 1 [BEe aHTE
c. [Fiwars a1 ua fafas- dide miver & 75 97 |m [ue, 3wy, oo
p. [J19  fHZTdl UA 99 & 74 (947 v [HE A
Hi9 {20 70 fAedi § § g8 3o * 95H Fifu
L. (A)-(I). (B)-(IIL), (C)-(II), (D)~(IV)
2. (A)-(II), (B)-(III), (C)-(IV). (D)-(I)
3. (A)-(II), (B)-(I), (C)-(IV), (D)-(1II)
4. (A)-(I), (B)-(IIL), (C)~(IV), (D)~(1I)
1 1
2) 2
(3) 3
4) 4
1[Option ID=37805] Question Description : political_science_political science _set 1_english_q77

2[Option ID=37806]
3[Option ID=37807]
4[Option ID=37808]

Sl. No.78
QBID:12078

Match List I with List IT

LISTI LISTII
Scheme Ministry
A JUITAWALA I. PMinistry of Power
B. |Saubhagvam Yojana I1. PMinistry of Finance
C. |Atal Pension Yojana I _\’hn_lstr_\' HE Wovesi il Ehoid
[Development
D. Nationsl Bocial Astistinch IV. Ministry of Rural Development
Programme -

Choose the correct answer from the options given below:

1. (A)-(ID). (B)~(III), (C)~(1). (D)-(IV)
2. (A)-(1). (B)-(III). (C)-(V). (D)(ID)
3. (A)-(IID). (B)-(I). (C)-(IV). (D)-(IT)
4. (A)-(I). (B)-(1). (C)-(1). (D)-(IV)

1) 1

) 2

(3) 3

(4) 4



g -1 T19 gei-11 &1 fqam $ifae

-1 geEi-n

TIeET HATAH
A [FSE L [ T
B [@I9TIH a1 o (=9 gaed
c,&l—dﬁqﬂ?lam mﬂ%?ﬂ@iw%lﬁmﬁ—ﬂfﬂ
D. [UE1F AT TEEAT HEFH v [T (o Jaraa

H= f7u U el | © g8 3T @ == i

~(II), (B)~(III). (C)~(I). (D)~(IV)
-(I), (B)~(III), (C)-(IV). (D)-(II)
(III). (B)~(1). (C)-(IV), (D)~(II)

(A)
(A)
(A)-
(A)-(IID), (B)~(1). (C)-(II), (D)-(IV)

Al =

1)1

(2) 2

(3) 3

4) 4

1[Option ID=37809] Question Description : political_science_political science _set 1_english_q78
2[Option ID=37810]

3[Option ID=37811]
4[Option ID=37812]

Sl. No.79
QBID:12079

Match List I with List II

LIST1I LIST II
A |Indian Peace Keeping Force in Snilankal [ [[ndira Gandhi
B. |Shimla Agreement II. Rajiv Gandhi
C. |Lahore Declaration 111 |Atal B. Vajpavee]
D. |Act East Policy IV. [Narendra Modi

Choose the correct answer from the options given below:

L. (A)-(D). (B)-(D). (O)-(I1). (D)-V)
2. (A)-(D). (B)-(D). (C)-QV). (D)-I)
3. (A)IV). (B)-(IID). (C)-(II). (D)-(T)
4. (A)-(ID). (B)-(IV). (C)-(D). (D)D)

(1) 1

) 2

(3) 3

4) 4

-1 % A1 gei-11 1 A i

‘F@%—I 131\?.&—11
A | d yrdim wifa s s @ giea e
B. [fTET Hﬂi—'l“l?ﬂ 1. oSt ey
ol H@T BlEL| I [H I ﬁ@ﬂ ATUE]
. [Fe SEZ Hlld v, [{E5 A1l

= f2u o et | O g8 3o w5 == it

- (A)-(IT), (B)~(I}, (C)-(III), (D)~(IV)
. (A)-(I), (B)-(IT), (C)-(IV), (D)-(1II)
A(A)-(IV), (B)-(IIT). (C)-(II). (D)-(I)
. (A)-(IIT), (B)-(IV). (C)~«I). (D)-(II)
1) 1
2 2
3) 3

T S



(4) 4

1[Option ID=37813] Question Description : political_science_political science _set 1_english_q79
2[Option ID=37814]
3[Option ID=37815]
4[Option ID=37816]

Sl. No.80
QBID:12080

Match List I with List II

LISTI LISTII
Year Summit
A 1955 1. [Bandung Summit
B. |1961 II. |Belgrade Summit
C. |1983 [IT. New Delhi Summi
D. |1998 IV. [Durban Summit

Choose the correct answer from the options given below:

L (A)~(IT). (B)-(I1I). (C)-(IV). (D)-(I)
2. (A)-(TII), (B)-(1). (C)~(11), (D)-(IV)
3. (A)-(D). (B)-(IL). (C)-(I11). (D)-(IV)
4. (A)-(IV). (B)-(II). (C)-(I). (D)-(I1I)

1) 1

(2) 2

3) 3

4) 4

-1 a9 E-11 1 faam Fif

~

Hef-1 Heft-n
TN ToreR weeE

L R % ~
A 19353 {1 GIIQ*L [T THHH
ST ~ B
B. [1961 1. [(CUE T9gE HH-HH
C f~ B0 F S
C. 1983 nr [[5 ol TR T
[ "
D. [1998 . [E4slH TR JHHAA

S fau o faeet | @ @@t 3T == Fifs

- (A)~(II), (B)~(III). (C)-(IV). (D)-(I)
. (A)-(IID), (B)-(I). (C)-(II), (D)-(IV)
. (A)-(D), (B)-(IT), (C)-(III), (D)-(IV)
L (A)-(TV), (B)-(II), (C)-(I), (D)-(III)
1) 1
(2) 2
3) 3
4) 4

N R S R

1[Option ID=37817] Question Description : political_science_political science _set 1_english_q80
2[Option ID=37818]
3[Option ID=37819]
4[Option ID=37820]

Sl. No.81
QBID:12081

Arrange the concepts in chronological order according to evolution.

A. Legal Sovereignty

B. Popular Sovereignty

C. Political Sovereignty

D. Theory of Plural Sovereignty

Choose the correct answer from the options given below :

L. (A). (D). (C). (B)
2.(A). (B). (D). (C)
3. (A). (C). (B). (D)
4.(

11

) 2

(3) 3

D). (B). (A). (C)




(4) 4
ol o

fAfafEa TFamonsti #1 9% FF & FIEFRAHAR 271 O =9afeqd i

A. fafers s
B. TIEISE TIHAT
C. TITa T

D. SIgdl AUHAT 1 g

Ji9 fZu U fAeedt 5§ 9 I 0 =g i

1. (A). (D), (C). (B)
2. (A), (B). (D), (C)
3.(A),(C), (B), (D)
4. (D), (B). (A). (C
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37821] Question Description : political_science_political science _set 1_english_q81

2[Option ID=37822]
3[Option ID=37823]
4[Option ID=37824]
Sl. No.82
QBID:12082

Arrange the following books according to their publication year in chronological order

A. The Archaeology of Knowledge
B. The Human Condition

C. Spheres of Justice

D. After Virtue

Choose the correct answer from the options given below :

L (B). (A). (D). (C)
2. (A). (B). (C). (D)
3. (D). (A). (B). (C)
4. (C). (D). (A). (B)
(1 1
) 2
3) 3
(4) 4
| o N i

ffafaa e 1 3% THEH a9 & HFAEAR 21 § At fifa

= B ot f
L FETH AR SAEeH

AT
B. 7 GUHI HsIR
C
D. SATF 39

= f7u U faeT 8 @ 9E I 99w fifee

1.(B).(A). (D). (C)
2.(A). (B), (C), (D)
3.(D). (A), (B).(C
4.(C), (D). (A), (B)
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=37825] Question Description : political_science_political science _set 1_english_q82

2[Option ID=37826]
3[Option ID=37827]
4[Option ID=37828]




Sl. No.83
QBID:12083

Arrange the following concepts in chronological order according to their evolution.

. Sampurna Kranti

. The saptang theory of State
. Radical Humanism

. Satyagrah

Onwe

Choose the correct answer from the options given below :

1. (B). (C). (D). (A)
2.(A). (D). (€). (B)
3. (D). (A). (B). (C)
4. (A). (C). (D). (B)
1
) 2
(3) 3
(a) 4

FeATIRad TFeTTstl (STFRONST) &l 39 A9 (IFF) & 9 H =Faedd Hifau|

A. GFEIUT ZhRIfd

B. <4 &1 GO fazmd
C. 3 HIFAAAER

D. HeAWE

J9 f7u o e § O 98 I o 9Ee i

1. (B), (C), (D). (A)
2. (A). (D), (C), (B)
3. (D), (A), (B). (C)
4. (A).(C). (D). (B)
1 1
(2) 2
(3) 3
4) 4
1[Option ID=37829] Question Description : political_science_political science _set 1_english_q83

2[Option ID=37830]
3[Option ID=37831]
4[Option ID=37832]

Sl. No.84
QBID:12084

Chronologically arrange the features of constitutionalism as they developed over period of time.

A, Checks and Balances

B. Codification of Law

C. Political Separatism

D. Constitutional Monarchy

Choose the correct answer from the options given below :

1. (C). (B). (A). (D)
2.(A), (B). (C). (D)
3.(B). (C), (A). (D)
4.(C). (B). (D). (A)

(11

) 2

(3) 3

(4) 4




dfsarar $ F=fafaa FRwast # a0 Fews § =afea i, Sofs 3 @93 & @9 G 2
off|

e i aqa

A
B. fater =1 dfgarrao
C
D

A
Al T pdlAlg

di= f2u U faed 5§ 98 I o 9E i

1. (C), (B). (A). (D)
2.(A). (B). (C). (D)
3.(B).(C). (A). (D)
4.(C), (B). (D), (A)
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=37833] Question Description : political_science_political science _set 1_english_q84

2[Option ID=37834]
3[Option ID=37835]
4[Option ID=37836]

Sl. No.85
QBID:12085

Arrange the following directive principles of state policy in a sequential order as mentioned in the Constitution of India.

A. Equal pay for equal work for men and women

B. To secure a uniform civil code throughout the country for all citizen
C. To promote equal justice and to provide free legal aid to the poor
D. Separate the judiciary from the executive in the public services

Choose the correct answer from the options given below :

1. (A). (B). (C) and (D)
2. (A). (C). (B) and (D)
3.(C). (A). (B) and (D)
4. (D). (B). (C) and (A)

(11

) 2

3) 3

(4) 4

usg &I Hifa & feafafaa e acl w1 ardia gfram 5 9% 53 % 9an S5 | ==afead fifsu)

A. T&Y UF AfacAteti &l GHH 1 2q a9H 5d|

B. a4l AFTiel & ol o 291 § uh GEE ATl dfaan dang wl
&

D

frda % folu a9 = 1 S=E 241 v qud fAtas geEan yaE S|
i TATetl | e F1 HEs 8 guE|

= fzu mu faweai @ @ od s 1 5=a i

[

.(A), (B). (C) 31 (D)

.(A), (C), (B) S (D)
3.(C). (A), (B) T (D)
4. (D), (B). (C) I (A)

1) 1

) 2

3) 3
(4) 4

]

1[Option ID=37837] Question Description : political_science_political science _set 1_english_q85
2[Option ID=37838]




3[Option ID=37839]
4[Option ID=37840]

Sl. No.86
QBID:12086

Arrange the following movements in chronological order.

A. Chipko Movement

B. Jal Satyagrah

C. Appiko Movement

D. Jan Lokpal Movement

E. Narmada Bachao Andolan

Choose the correct answer from the options given below :

1. (B). (C). (D). (E). (A)
2. (A). (). (B). (D). (B)
3. (D). (C). (A). (E). (B)
4. (C). (A). (D). (B). (E)

(1 1

) 2

(3) 3

(a) 4

frafafiga srareml 1 FewAEan 21 8§ =3afeaa fifsg|

A. Faaerl sFaaH
B. il dcAUE

C. uftuehl SAFATAA
D

E

SR AR

di= f2u U faed 5§ 98 I o 9E i

B), (C). (D). (E). (A)
(A) (C). (E), (D). (B)
). (C), (A), (E). (B)

) (A), (D). (B). (E)

-JAUJIJr—A

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=37841] Question Description : political_science_political science _set 1_english_q86
2[Option ID=37842]

3[Option ID=37843]
4[Option ID=37844]

Sl. No.87
QBID:12087

Arrange the following experiments of Elton Mayo in chronological order.

A. Relay Assembly Test Room Experiment
B. Illumination Experiment

C. Mass Interview Programme

D. Bank Wiring Experiment

Choose the correct answer from the options given below :

1. (C). (A). (B) and (D)
2. (B). (A). (C) and (D)
3.(C). (B). (A) and (D)
4. (D). (A). (C) and (B)




r~ % ome

UFed HAT % (EAfaigd JErT F HEHHaR 2 8 s9aEdd il

A T sgeed] 2o w1 wgEwEe
B. «&E '\ﬂ'\r

c.HH| 3?19-"4 T

D. 3 Arafn wEtEe
Ji= fZu U faeT 5§ 9@ I R 9gH i

1.(C), (A), (B) T (D)

.(B). (A). (C) 31 (D)
3.(C). (B). (A) T (D)
4.(D), (A), (C) A (B)

1) 1

2) 2

3) 3
(4) 4

o]

1[Option ID=37845] Question Description : political_science_political science _set 1_english_q87
2[Option ID=37846]
3[Option ID=37847]
4[Option ID=37848]

Sl. No.88
QBID:12088

Arrange the following Anti-Corruption measures taken by Government of India in chronological order

A Ratification of the United Nations Convention Against Corruption (UNCAC)

B. Black Money (Undisclosed foreign income and assets) and Imposition of Tax Act
C. The Prevention of Money Laundering Act

D. The Benami Transactions (Prohibition) Act

Choose the correct answer from the options given below :

1.(D), (A), (B). (C)
2. (D} {C) (A). (B)
3. (D). (C), (B), (A)
4.(D). (B). (C). (A)
1) 1
2) 2
3) 3
4) 4

T TR AT 321U U ffafiad weram SR #20 (SUrEl) F1 FIasEHar 27 8 =Fameaq i)

A. HETER % foeg &g g Afqasa (A oA & u ) F1 Agamea
B. 1Al €4 (A (95 A 991 9imf) qon # sAtat-Ee

C. gaeIge Ay stafaw

D. st TsaEEr (ufay) sAfafEs

= f2u o famedt 5 @ 9@ I o =9e fifee

1. (D), (A), (B). (C)
2.(D).(C). (A). (B)
3.(D)(C), (B). (A)
4. (D), (B), (C). (A)

1) 1

2) 2

3) 3

(4) 4

1[Option ID=37849] Question Description : political_science_political science _set 1_english_q88



2[Option ID=37850]
3[Option ID=37851]
4[Option ID=37852]

Sl. No.89
QBID:12089

List chronologically the joint exercises conducted by Indian Air Force :

A. Indradhanush-IV
B. Desert Eagle-1I
C. Table Top

D. Samvedna

Choose the correct answer from the options given below :

1. (A). (B). (C) and (D)
2. (B). (C). (D) and (A)
3.(C). (D). (A) and (B)
4. (D). (A). (B) and (C)

11

) 2

(3) 3

(4) 4

A AFET g1 FFRU 7T G STl il FIHAAR gelsg it

A. 3NV
B. 29¢ -1
C. 2fera 2

D. Azl

Hre f2u o faeat § @ ot 3T 1 e it

[

.(A), (B). (C) S (D)

.(B). (C), (D) A (A)
3.(C). (D). (A) HA (B)
4.(D). (A), (B) #AI (C)

1) 1

2) 2

3) 3
(4) 4

-2

1[Option ID=37853] Question Description : political_science_political science _set 1_english_q89
2[Option ID=37854]
3[Option ID=37855]
4[Option ID=37856]

Sl. No.90
QBID:12090

Arrange the following BRICS sumimit in a chronological order :

A. Ufa. Russia

B. Johannesberg. South Africa
C. Durban. South Africa

D. Beijing Virtual Summit

Choose the correct answer from the options given below :

1. (C). (A). (B) and (D)
2. (B). (C). (A) and (D)
3.(A). (B). (C) and (D)
4. (D). (B). (A) and (C)

e

(1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

e feras e shi 9§ R s@eh W1g TIF o I U

AMIAEFATE I ACHARF ehiead AN Fiead 310® 4 fatEa fe=n sar 2, 59 usHifas =599 S aeeiias
TAITAT o SESHT % HIEA9 8 SHIC T@] J1a1 21 386 wEE & asdi 6 i & fau aeHifas 2ai ud
SH-TTEA F1 STAN F 50 ST B A (R ST 8| SATaT=aAT § @01 & qiq Hi | 5w fFo
forar AT i e, s6 A & @iy At 2 98 aEtas sqaedn Fi SA0 W S -
SqAEAAT <l UHAH % U Fecaqul 2| I ®UcHF (9aarsll & 99 & [a] 3+ T (G (e 7
21 7, A 91 AT TEA F AR T, AEA HAEA THT F HE A1 3G & dhdl &l AraTEsAT
IR H UE: Ja1eA & 509 Ud Sfaeddicns Scda a1 SAYcaE I 91 A1 0 SA9TE g1 21 d Ak U
Aq=gH H Eaaar FE A Saas w H FEE0 w@dt 21  uEr U9 A1HS 89 J dlaiEE
HENAT, FY-TSAqF Zell, TO7 A A Rl AT L dFd 8 qiis FI2IU a9T AUTaETaicHF Tl
o A F AIEAE A qEEE A SatEr S el

Which of the following is not a characteristic of an authoritarian regime?

1. Nominally democratic institutions.
2. Uncompetitive election of leadership.
3. Mobilisation of people for attainment of regime’s goals.
4. Use of mass organization to strengthen democracy.
11
(2 2
(3) 3
(4) 4
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Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

F=fafEe T #it g R 39 =18 T % I i)

AMIAEFATE Tl AT Aohiead AR Fiwad 3106 & (At = Sen 2, 58 usHifas 299 31 aeHias
FAIqET & FAETHT & HIE9H U =10 JG1 G121 $5H 9 5 aE41 I F e TeEias 3al o
SH-FTEAl F ITEN A §Y ST Fl A [FAT AT &1 SAAEEAT § 801 & 0id i S e
farr sArsares i e, 58 fAvaE & @i i At 2 g8 At A Fi SA0 W S -
=Eadt i TFA™ F U gecaqol 2| 39 g fagare & 90 & fou o= g g e 1
&1 79, a1 91 A9 A F ATIR T, A SFEAE TR F FE AT TdA & TRt &l SATIaEsATa
IR H U Ja1eAl & $909 U GiaeTdicas Soaa 91 SAucas 99 91 A1 B A9 g 2l F Ak U
Alq=g® Hi SaaAar SE e Saa /G0 w@dt 81 auEn U5 A1HE 89 3 AlRdiEE
TETEAT, A -TSHIdh Aal, Ta7% A T H A FTHd 2 dlh FII0 q91 AT e il
A TAE %+ ATEE A A R A9 SEtEn ST A

Given below are two statements :

Statement (I) :  Authoritarianism demands unquestioning obedience to authority.

Statement (II) :  Authoritarian governments often lack free and competitive election of leaders.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement (I) and Statement (II) are true
. Both Statement (I) and Statement (II) are false
. Statement (I) is true but Statement (II) is false
. Statement (I) is false but Statement (II) is true
(1) 1
(2) 2
(3) 3
(4) 4

b =

Lo
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Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

fr=feafen T #t ug ot 39k =1 Wy % IR i)

ANRITEFATE AT Ahiad A1 Fiaa ofs & fata s 2, 59 assifas =99 s aeeifas
FAITAT & FETHT F TIE9H U =10 TGT G121 $5H T F T4 i T F [0 T-1a% 2al U
SA-HTEHA F1 TN Fd gY a1 F A R A1 21 AfaAEEAr § w1 & afd i o 3w
farn sqrsmares i @, 3a fAavaE & @i A A 2 g7 amntes sgEen # TAn gy ST -
=qFEqaT <l UFHAH F U Fecayul 2| 37 ®arcde [99arell & a9 & fau = g% fada feu 1
21 79, qa1 A1 AT A F TR W, WA SAEIN T F R A cdd @ & aedt 8| At
TLFRAT § WHE: Ha1e1l & FA09 UF aeTdies Sedsd 91 STIedsd JAE J1 31 1 ST9E B 8l F AT 0
Afq=ats H waasar FH€ e Saaet ® § a0 w@dt 81 auEn 59 A1HE 89 5 didiEs
EISl, IY-TSAfaF 2, G097 A FAE F AfEfad FaFd 8 s FII0 a9 Aufaerdaiers i
U T & AIAH A TG Rl A9 e ST A

Why authoritarian regimes command unreasoned acceptance of their political authority?

1. To strengthen democratic ideals
2. For enhancing civil liberties
3. For constitutional governance
4. For preventing political disruption
11
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

frmfefiea maier st o ok 3@ =18 wva % I i)

AIAEFATE Hl FAcAIF Aohiead AR iz ofs & fata fe S 2, 58 aesifas =99 s aeeifas
FAIGAT o a1 % HIEA9 8 SHI0 TE1 S1a1 21 308 wEA & 24l i & fau asHifas 24l w
ST F1 TN A gY A1 F A (R A1 21 AfaAEEAr § aon & afd i o 5w 5
forr st hi e, 59 favaE & @i B St @ f 98 amtas saaEdn S SHT e S -
=qFEqar =l UFHIH F fqu geeayol 2| 376 =uredes f9garsli & v & fau 4 g fasaa feu 1
21 79, A 1 AT A F AR T, A HAEAC THT T HF A G & TRl &1 AT
TLRAT H WHE: Ha1ell & 09 UF Sfaeqdicns Sodel 91 STIcdsd JAE I ZH1 1 A9 B 8] F AT 0
AfH=arF I Taaadr SH1 9T A ® H [E307 wadt @) a9EE U A1HE ®9 J ATRdiEE
TETAT, A -TSHIdT Zal, Ta7% A FAE H GEATTd L THd & qlh FI20 q91 A aeTaicas il
o FAE % AIFH A I F A SEE S a9

Authoritarian regimes legitimise their dictatorship through which of the below methods?

A. Through periodic fair elections.

B. Through competitive election of leaders.

C. Through deceptive and indirect elections.

D. Through blocking opportunities to potential challenges

Choose the most appropriate answer from the options given below :

1. (A) and (B) only
2. (B) and (C) only
3.(C) and (D) only
4. (A) and (D) only

(1) 1

(2) 2

3) 3

(4) 4
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Read the following passage and answer the questions that follow :

Authoritarianism is characterized by highly concentrated and centralized power maintained through political
repression and exclusion of political challenges. It uses political parties and mass organization to mobilize people
for the attainment of the goals of the regime. Authoritarianism demands unquestioning obedience to authority
believing it is important for maintaining social order and preventing disruption. Several typologies have been
developed to describe their morphological variations. Authoritarian regimes can be autocratic or oligarchic in
nature, based on party, leader or military rule. Authoritarian governments often lack free and competitive, direct
or indirect election of leaders’ or both. They also check civil liberties such as freedom of speech and expression.
Authoritarian state may include nominally democratic institutions such as political parties, parliaments and
elections designed to legitimize dictatorship through deceptive and uncompetitive elections.

T=ferlas e i ug R sEeh =g TIF o I ST

AMIAEFATE &l ACHAF ehiead AN Fiead 310H 4 fatEa fean Sar 2, 59 asHifas =599 S aeeias
THITAT o SESHT % HIEA9 8 SHIC W@l J1a1 21 386 wEE & asdi 6 i & fau aeHifas 2ai ud
SH-TTEA F1 STAN F U ST Bl A (R ST 81 SAT=®AT § @01 & qiq Hi | 5w fFo
forar st i e, s8 fAvaE & @iy At 2 fF 98 aEtas sqaEdn Fi SA0 W@ S -
SAFEAAT hl UHAH & U Facaqul 2| I ®UcHF (9aarsAl & a9 & [ad 3+ T (G (a1
21 7, 1 91 8T A F AR T, G HAEIU THq F HET AT G & TRl &l AraTEasAT
IR H UE: Ja1eA & 509 U Sfaeddicas Scda 31 SAYcasE g 31 A1 0 SA9TE B 21 d ATk U
Aq=gH H Eaaar FE A Saas w H FEE0 w@dt 21  uEr U9 A1HS 89 J dlaiEE
HENSAT, F-TSAqF Zell, TO7% A A Rl AT L dHd 8 qiis FI2I0 a9] A aETaicqF qiHi
H A % HIEAH W qEEE A SEEr S dl

What remains the status of civil liberties in authoritarian regimes?

Remain as freely available as in democratic regimes.
Their status remains unchanged.

They are respected more.

All the above are false.

ke

~

1 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
3) 3
4) 4
1[Option ID=37877]
2[Option ID=37878]

3[Option ID=37879]
4[Option ID=37880]
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago. Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scientific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

F=fefea T wt 9fed @i sea wafaa gvai & 3w i

ATFIIEA TeFRHUFRIA FI (999 2| 91509 §, 589 a9 Hae nfafareal sidi @ 8, q saehl nfaiataar 29 uF
2| g W, AT d 73 B9 % Auia s, 309 S ST & gl 99 &+ HeE | 19
4 2 ganfa o i dsevn gerl foselt ot & 2rH, arFweEE | @9 % e Afq afFa arE § $5T % of
Aacaqul aftadd 1= | w9 30 39 94, deet (1968) 7 98 941 6 39 = 18 ®Iaivl 4 UF &g, s =i i
SEF 959 F GFe Fi Sldeitsa [T | FeAl, T F [HEE AT UF H99E F w9 § Al Y9ET & A
Ty 1 |t @eha fear 2 (fam, 1996) 1 var wdia atar 2 o6 ot 21 =ff adt & smw &, i gemas o1 i o1
Iz T 993 % STFEHES aEl SN SATEREalel & 954 AR~ 5 F v 2, 9 39 A SAcatas sAas Am
At farg ser-=ame SR g AT | 30 afEda & a9 f s e A SwE wd 29w o
% 99 T3 FAIGAl @St Bl 2| FATAd Gaias Hecaqu G99 9 HRATs AL TUERTIY THHE FEHAT J
faami % ferh foeqa Hismn 9 1 Chid FET1 21 SARTH AN 3 Ao S9EE H qodTE g Gl & 9w
AT &A1 = ATAE oo Araa g 3= gohi & ZR1 &

I AR T AAR-{AEE SS9l &4 | 21 fAiEiaE & uhieor i Steaarai & arg-arg AAEa F
TH Fa1 21 fed, 9 O F9 U 92 W A T4 2 : 98 98 (% APl %l saal gl S SAEedhal al anm
FII TG hl W STUET B, ST OETTO AT S THTEl TeEq  [El O 9i=d g1l FAa Fa seal arEsm
FHHRA 8 AR AT 99 UF 190 F IH T & A &7 H T5W G6d 8| T8 AGHH 99 F T A 09
AT THR T T TEFT 2

=T il N SN SAHT AFEE T AR & A9 Gad, T Fed dill & 79 § AMG AAE 0 | 1, q5e
T SIWA @ 2| Z0 T " ITREdRiE AmE |, A e F S FE U T A% HEE 1 R
What is the main reason for a major role of Public Administration in future?

1. Scientific thinking among people
2. Citizens are static
3. Citizens are more active due to political complexity
4. Fall of relation between state and citizen
1) 1
(2 2
(3) 3
(4) 4



A § @i eEA F T S g R0 AT 8 7

1. ST o e At foae
2. AnTie feom 2
3. T Sifearar & 0T AN sArah dikd &
4. U5F U5 AUH & g99 | frmEe
(1) 1
(2) 2

3) 3
(4) 4
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago. Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scientific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

F=fefea T wt 9fed @i sea wafaa gvai & 3w i

ATFIIEA TeFRHUFRIA FI (999 2| 91509 §, 589 a9 Hae nfafareal sidi @ 8, q saehl nfaiataar 29 uF
@ 2| A i i, SAaeiies 73 S & Al swienn, gU9 ot s % arsiee @ & HeE | 19
4 2 ganfa o i dsevn gerl foselt ot & 2rH, arFweEE | @9 % e Afq afFa arE § $5T % of
Aacaqul aftadd 1= | w9 30 39 94, deet (1968) 7 98 941 6 39 = 18 ®Iaivl 4 UF &g, s =i i
SEF 959 F GFe Fi Sldeitsa [T | FeAl, T F [HEE AT UF H99E F w9 § Al Y9ET & A
Ty 1 |t @eha fear 2 (fam, 1996) 1 var wdia atar 2 o6 ot 21 =ff adt & smw &, i gemas o1 i o1
Iz T 993 % STFEHES aEl SN SATEREalel & 954 AR~ 5 F v 2, 9 39 A SAcatas sAas Am
At farg ser-=ame SR g AT | 30 afEda & a9 f s e A SwE wd 29w o
% 99 T3 FAIGAl @St Bl 2| FATAd Gaias Hecaqu G99 9 HRATs AL TUERTIY THHE FEHAT J
faami % ferh foeqa Hismn 9 1 Chid FET1 21 SARTH AN 3 Ao S9EE H qodTE g Gl & 9w
AT &A1 = ATAE oo Araa g 3= gohi & ZR1 &

I AR T AAR-{AEE SS9l &4 | 21 fAiEiaE & uhieor i Steaarai & arg-arg AAEa F
TH Fa1 21 fed, 9 O F9 U 92 W A T4 2 : 98 98 (% APl %l saal gl S SAEedhal al anm
FII TG hl W STUET B, ST OETTO AT S THTEl TeEq  [El O 9i=d g1l FAa Fa seal arEsm
FHHRA 8 AR AT 99 UF 190 F IH T & A &7 H T5W G6d 8| T8 AGHH 99 F T A 09
AT THR T T TEFT 2

=T il N SN SAHT AFEE T AR & A9 Gad, T Fed dill & 79 § AMG AAE 0 | 1, q5e
T SIWA @ 2| Z0 T " ITREdRiE AmE |, A e F S FE U T A% HEE 1 R

Who among the following has identified the transition of Public Administration to a profession?

. Dwight Waldo

. Woodrow Wilson
. Lynn

. EM. Marx

(1) 1

) 2

3) 3

(4) 4

b =
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago. Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scientific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

F=fefea T wt 9fed @i sea wafaa gvai & 3w i

ATFIIEA TeFRHUFRIA FI (999 2| 91509 §, 589 a9 Hae nfafareal sidi @ 8, q saehl nfaiataar 29 uF
@ 2| A i i, SAaeiies 73 S & Al swienn, gU9 ot s % arsiee @ & HeE | 19
4 2 ganfa o i dsevn gerl foselt ot & 2rH, arFweEE | @9 % e Afq afFa arE § $5T % of
Aacaqul aftadd 1= | w9 30 39 94, deet (1968) 7 98 941 6 39 = 18 ®Iaivl 4 UF &g, s =i i
SEF 959 F GFe Fi Sldeitsa [T | FeAl, T F [HEE AT UF H99E F w9 § Al Y9ET & A
Ty 1 |t @eha fear 2 (fam, 1996) 1 var wdia atar 2 o6 ot 21 =ff adt & smw &, i gemas o1 i o1
Iz T 993 % STFEHES aEl SN SATEREalel & 954 AR~ 5 F v 2, 9 39 A SAcatas sAas Am
At farg ser-=ame SR g AT | 30 afEda & a9 f s e A SwE wd 29w o
% 99 T3 FAIGAl @St Bl 2| FATAd Gaias Hecaqu G99 9 HRATs AL TUERTIY THHE FEHAT J
faami % ferh foeqa Hismn 9 1 Chid FET1 21 SARTH AN 3 Ao S9EE H qodTE g Gl & 9w
AT &A1 = ATAE oo Araa g 3= gohi & ZR1 &

I AR T AAR-{AEE SS9l &4 | 21 fAiEiaE & uhieor i Steaarai & arg-arg AAEa F
TH Fa1 21 fed, 9 O F9 U 92 W A T4 2 : 98 98 (% APl %l saal gl S SAEedhal al anm
FII TG hl W STUET B, ST OETTO AT S THTEl TeEq  [El O 9i=d g1l FAa Fa seal arEsm
FHHRA 8 AR AT 99 UF 190 F IH T & A &7 H T5W G6d 8| T8 AGHH 99 F T A 09
AT THR T T TEFT 2

=T il N SN SAHT AFEE T AR & A9 Gad, T Fed dill & 79 § AMG AAE 0 | 1, q5e
T SIWA @ 2| Z0 T " ITREdRiE AmE |, A e F S FE U T A% HEE 1 R

Which among the following statements are not related to the transition of the discipline of Public Administration?

. Accurate self-definition

. Changes in the modern life

. Extensive scientific recognition

. Economic and Financial Crisis of the Markets
(1) 1

) 2

3) 3

(4) 4

b =

S



feAfafiad w9l § O 901 i S9naE A % GERE0 O garad q8l e ¢

1. aRElg STH-TRHTT

2. ST e | A

3. A9 AANF ATHTH

4. STSTRI 1l A A faedfiE ae
1 1
2) 2

3) 3
(4) 4
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago. Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scientific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.

F=fefea T wt 9fed @i sea wafaa gvai & 3w i

ATFIIIEA TeFRHIFRIA FI (999 2| 91%a9 §, 589 a9 Hae nfafarear sidi @ 8, eq saehl nfafataar 29 uF
@ 2| A i 9, S w73 3 & e swienn, gU9 St s % aEsiee & & wE | 19
9 2 ganfa @ dia dsavn gerl el ot & 27, arFwemeE | g% % e Afq afF arE H 65T % of
Aacaqul aftadd 1= | w9 30 39 04, deet (1968) 7 98 941 6 39 = 18 ®Iaivl 4 UF f&eH, s Haior i
SEF 959 F GFe Fi Sldeitsa [T | FeAl, T F [HEE AT UF H99E F w9 § Al Y9ET & A
Ty 1 |t @eha e 2 (fam, 1996) | var wdia arar 2 o6 ot 21 =ff adl & o &, dis gemas &1 i o1
9z T 999 % STFEHS TaEl SN SATEREalel & 954 AR~ 5 F v 2, 9 39 ud SAcatas sAasE Am
At ferg ser-=ame SR g AT | 30 afEda & a7 f s e A SEm wd 2 g o
% T94 T3 FAIGAl @St FAl 2| FATAd Gaias Hecaqv] G99 T HEATs AT UERTIY a6 FEHAT d
fasmi % iferh foreqa Hismn 9 1 Chiwd FET1 21 SARTH AN 3 i S9EE 5 qoaTE g Gl & 9w
AT &A1 = ATAE oo Araa g 3= gohi & ZR1 &

I’ AR T AR {AEE S suEnl S | 21 fAitas o uhieor i Steaarai & arg-arg AAEa F
TH Fa1 21 [, 9 O F9 Uk 2 W A T4 2 : 98 98 (% il %l Saql g S SAEvasal al anm
FII TG hl W STUET B, ST OETTIO AATSAT S THTE TeE Rl O 9i=d gl FAa Fa saal At
FHHA 8 AR AT 99 UF 90 F 30 T & a4 &7 H T5W GHd 8| T8 AGHH 99 F STIIEs A 09
AT THR T T TEFT 2

=T il I ST ST AFAE T AR F @ G, T A a6 7 A A A |, "q5e
T STI9A F T 2| 37 T d TR AmE J, A JEEE F TqE w1 0 T a5 S T a1 W R
Given below are two statements : One s labelled as Assertion (A) and the other ia labelled as Reason (R).

g;f-;zelinon (A): Infuture, Public Administration will be assessed with scientific tools viz performance indicators and high standards of

Reason (R): The impact of public choice and NPM is more on the present day Administration.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) 1s not correct but (R) is correct

1) 1

o =



) 2
3) 3
(4) 4

ik E‘?f R ﬁ’U mq % : Ueh sAfeRea (Assertion (A)) + =9 | feftad 3 at SHU 3% I (Reason (R))
& w7 :

AHFIT (A) : AT |, AT F1 oA A ISTHOT AU 2T goahi A 357 Fhia
frgra grr &

F07 (R) : A% faFeT ua U Ot ug 1 IHE aq9E 99T & 9IEE 0 At 2l

T FIF & AT d, A9 70 10 Fwedi § O g6y S9E I H 99 fifau

1. (A) & (R) ZM1 ®&l & &A% (R), (A) #I @&l =wan 2

(&) siic (R) O W &, AR (R), (a) ) wdl s 7 3
5. () iR SR (i) o &
4. (A) @& 7 2, dfA (R) @& 2

1) 1
(2) 2
(3) 3
4) 4
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Read the following passage and answer the questions that follow :

Public administration is a discipline in transition. In fact, it has always been in continuous movement, but not
always in the same direction. Contrary to the heavy, formal, and inflexible image of bureaucracies, public sector
bodies in America, Europe, and elsewhere have been in a rapidly intensifying transition since the early 1990s.
During the last century, public administration underwent significant changes resulting from crisis, as well as
breakthroughs in an ultra dynamic environment. Some 30 years ago. Waldo (1968) noted that these ongoing
transformations reflected an identity crisis of a science in formation. They also signaled a struggle for the
recognition and legitimacy of pubic administration as an art, a body of knowledge and a profession (Lynn, 1996).
It seems that today, at the beginning of the 21st century, the formation of public administration is still unfinished
business. it is a subject for debate among academics and practitioners across the world who seek higher and more
extensive scientific recognition, more accurate self-definition, and better applicability of the field to rapid
changes in modern life. This process presents new challenges for public administration. Perhaps. the most
important is to integrate more widely existing knowledge of the social sciences with efficient public action and
with quality governmental cooperation. In the coming years public administration will be evaluated by higher
stands of theory cohesiveness and by more comprehensive performance indicators rooted in a variety of
scientific fields.

To talk of the ‘Public’ of ‘Administration’, and of the integration of the two constructs into a useful terrain for
study involves promises as well as difficulties. But consensus does exist on at least one issue : the public needs a
better bureaucracy. The public also expects good and skillful administrators, familiar with the mysteries of
quality services and effective management. Only they can produce better ‘public goods’ and deliver them to all
sectors of society with minimum time and cost. This is a revised version of the ideal type of public
administration system applicable to modern times.

The role of the state and its relationship to bureaucracy and to citizens are undergoing substantial transformation,
not only in the minds of the people but also in scientific thinking. In a rapidly changing environment, public
administration has a major function and new aims that must be clearly recognized.
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Identify the correct option among the following statements related to the discipline of Public Administration.

A. Public expects good and skillful administrator

B. Public expects quality of services

C. Public expects effective management of institution

D. Public wants to continue with the present model of bureaucracy

Choose the correct answer from the options given below :

1. (A). (B) and (C) only
2.(A). (B) and (D) only
3. (A). (C) and (D) only
4. (B). (C) and (D) only

1) 1

(2) 2

(3) 3

4) 4

AT gTE Awg 9 getaq Hetataa seE § @ @8 3 F1 FAfea fifsw
A T Tl 7T AT FId TeERT H U 2|

B. ST =l UAETTYUT dATsAl i s1ua 2|

C. STl =l TGEIFI & THET Y94 il A4 2

D. A ATl % SqHH 91%9 & 919 81 A7 5741 =15 2l

H= fru U el | O g 3o @ =Ee i

FAd (A). (B) 3 (C)

aﬂ?—r (A). (B) 3 (D)

3. %A (A). (C) F (D)
4. %44 (B), (C) #1 (D)

1 1

) 2

(3) 3
(4) 4
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